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Question Number : 1 Question Id : 97675513547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the wrong term in the following series :
IM, FI, CE, XA, TW

Options :
1. ® FI

2. ¥ CE
3. % XA
4. % TW

Question Number : 1 Question Id : 97675513547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafaRad aan # Tad ue 71d a3

IM, FI, CE, XA, TW
Options :

1. % FI

2.¥ CE

3. % XA

4. % TW

Question Number : 2 Question Id : 97675513548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some letters are numbered as 1,2,3.4,5 and 6. In the options, four possible arrangements of these numbers are given. Choose the option so that
the letters form a meaningful word.

LEGANC

123456

Options :

1. ¥ 314562
2. % 614532
3. % 542136
4. % 312645

Question Number : 2 Question Id : 97675513548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T3 R BT 1,2,3,4,5 3R 6 H piford foran man g1 fasped] B, 39 T=msif &t IR YHIfad srawiTd &) 772 § | 39 sy o1 oo &3 o
31&R T H1dfeb Teg ST T |

LEGANC
123456

Options :

1. ¥ 314562
2. % 614532
3. % 542136




4. %= 312645

Question Number : 3 Question Id : 97675513549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following letter series :
DFH, , PRT, VXZ

Options :
1. ¥ KNP
2. % HMO
3. % ILM
4. ¥ JLN

Question Number : 3 Question Id : 97675513549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad sfeR @ H I U I1d o
DFH, , PRT, VXZ

Options :

1. ¥ KNP

2. % HMO

3. % ILM

4. ¢ JLN

Question Number : 4 Question Id : 97675513550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following series :
Q3D, S5G, U8]J,

Options :
1. % Z110
2. % YI2M



3. ¥ WI2M
4. % X11IN

Question Number : 4 Question Id : 97675513550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad saar d qu ug I &
Q3D, S5G, U8J,

Options :

1. % Z110

2. % Y12M

3.% WI2M

4. % X1IN

Question Number : 5 Question Id : 97675513551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
CPV:GTZ::DGJ:?

Options :
1. % FIL
2. % ILO
3. ¥ HKN
4. % FIM

Question Number : 5 Question Id : 97675513551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdHeT BT T B S ik UG ¥ 341 UHR ¥ Yafdd g o JR ¥ 3R UG Ugd Ug ¥ Hafed g
CPV:GTZ :: DGJ : ?

Options :
1. #* FIL




2. % ILO
3. ¥ HKN
4. = FIM

Question Number : 6 Question Id : 97675513552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Monk : Nun :: Bachelor : ?

Options :
1. * Married
2. ¥ Spinster
3. * Party
4. % Male

Question Number : 6 Question Id : 97675513552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faed &1 79 o S R U ¥ I TSR T Taifdrd § o TR | g¥R1 S Ugd Ue § Yefid g
m@:w::m:?

Options :

1. # faarfed

2. ¢ fdarfgdr

3. % oref

4. % Yo

Question Number : 7 Question Id : 97675513553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the pair that is related on the same basis to the pair given in the question.
IPV:MLZ :: ?
Options :



1. ®¥ ENR : IMY
2. % DNT: EPB
3. % DMQ: EQZ
4. ¥ EQV : IMZ

Question Number : 7 Question Id : 97675513553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS BT T B Sl Uy H &) 7S Siet A 99H YR O J&fid B

IPV:MLZ :: ?
Options :

1. ¥ ENR : IMY
2. % DNT : EPB
3. % DMQ: EQZ
4. ¥ EQV : IMZ

Question Number : 8 Question Id : 97675513554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language ARM = 15, MASK = 24, SLACK = 35, then what is the code for DOODLER?
Options :

1. % 49

2. % 56

3. %70

4. ¥ 63

Question Number : 8 Question Id : 97675513554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T f3d B8 YT H ARM = 15, MASK = 24, SLACK = 35 §, @ DOODLER & folt ®1€ &1 5?
Options :

1. % 49



2. % 56
3. %70
4.9 63

Question Number : 9 Question Id : 97675513555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If FROG is coded as JVSK, then what is the code for CLAY?
Options :

1. ¥ GPEC

2. % FODB

3. ¥ GOEB

4. ¥ FPDC

Question Number : 9 Question Id : 97675513555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gf& FROG &1 JVSK & &0 T $IfSd fbar T g, df CLAY & fou i 1 52
Options :

1. ¥ GPEC

2. # FODB

3. ¥ GOEB

4. % FPDC

Question Number : 10 Question Id : 97675513556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If DEFAME is coded as ZABWIA, then what is the code for BLANCH?
Options :

1. ¥ YIWKYD

2. % XHYJZE

3. % XHWIYD



4. * YIXKZE

Question Number : 10 Question Id : 97675513556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gf& DEFAME &1 ZABWIA & %0 § $IfSd faral T 8, A BLANCH & forT ®le e 82
Options :

1. # YIWKYD

2. % XHYJZE

3. % XHWIYD

4. % YIXKZE

Question Number : 11 Question Id : 97675513557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language,972 means sky is blue,731 means blue and smart,14 means smart woman, what is the code for 'and'?
Options :

1. %7

2.¥3

3.% 1

4. % 4

Question Number : 11 Question Id : 97675513557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Udh EIEGEARRYL ﬁ, 972 &bl G{Qf% sky is blue, 731 &I 3{&% blue and smart, 14 DI 31’2f% smart woman, 'and' & ﬁ"l'q HIS HT %?
Options :

1. %7

2.¥3

3.% 1

4, % 4



Question Number : 12 Question Id : 97675513558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rashmi is taller than Hemant who is shorter than Simran. Naman is taller than Heema but shorter than Hemant. Simran is shorter than Rashmi.
Who is the tallest?

Options :

1. ¥ Rashmi
2. ¥ Hemant
3. # Simran

4. % Naman

Question Number : 12 Question Id : 97675513558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I BHT A il § o R A Bt 81 79, AT T a1 § AfhT gHd A BieT g | R, I A 311 81 o daT pi 82
Options :

1. ¢ 3y

2. % gHd

3. % R

4. % “Hq

Question Number : 13 Question Id : 97675513559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A’ $ B means A is the father of B, A # B means A is the wife of B and If A * B means A is the mother of B, then what doesP#Q $ R * S
mean?

Options :

1. # P is the mother of S

2. % P is the grandmother of S
3. % P is the sister of S

4. % P is the wife of S



Question Number : 13 Question Id : 97675513559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IEASBHIAIBA BHIUAR, A#B BTG, A, BPI Ul g SR AR A*BHTHIT A, BHIAMIG, AP# QSR * S BT T 31f 82
Options :

1. % P,SHI A G

2.V PSP

3. % P SPHITEAE

4. % pSHITAE

Question Number : 14 Question Id : 97675513560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.
1. MANGOES

2. MANDATE

3. MANKIND

4. MANNERS

5. MANIACS

Options :

1.¥2,1,5,3,4

2.%2,51,3,4

3.%2,5,3,1,4

4. % 2.1,5,4,3

Question Number : 14 Question Id : 97675513560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U 7T Tea] BT 39 HH | AT < Ford o5 H H d eadh I H 51 & |
1. MANGOES

2. MANDATE
3. MANKIND




4. MANNERS
5. MANIACS

Options :

1.921,5,3,4
2.% 25 1,3,4
3.%2,53,1,4
4. % 2,1,5,4,3

Question Number : 15 Question Id : 97675513561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ujwala, Diksha, Isha, Misha, Zain and Hina are sitting around a round table facing the centre. Ujwala is opposite Diksha, who is to the right of
Misha, Ujwala is between Zain and Hina, Hina is not next to Misha. Who is to the right of Isha?

Options :
1. # Ujwala
2. # Misha
3. % Hina
4. #* Diksha

Question Number : 15 Question Id : 97675513561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JosaaT, Sie, 33, R, 5F 8k 1 s & AH U S Ud Nd Hl & IRI 3R 96 & | Sadl, SI&T & A 981 &, Sl =1 & aT8 3R
&, Iadl, o 3R fg1 & g & 931 &, e Hien & et § 18T § 1 S aTS 3R B 82

Options :
1. % 3odall
2. % fo=m
3. &1
4. % et

Question Number : 16 Question Id : 97675513562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 ; All bats are rats.
Statement 2 : Some bats are bears.

Conclusion I : Some rats are bears.
Conclusion II : No bears are rats.

Options :

1. ¥ Only conclusion I follows
2. % Only conclusion II follows
3. % Both I and II follow

4. # Neither I nor II follows

Question Number : 16 Question Id : 97675513562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & &I pY= feu U 8, fo e a1 &l s 1 3R 11 fau 77U §1 3mueh! 37 HUAT &l et A1 5, Hd 81 I8 Ir9=a: 1d 9 I e Ui
BNl 3iTuh! 78 fAvfg o & 3 fow e s & @ 1 1, afe g 31, Y fRu T oyt H @ srgRur e g

HYF 1: U TS TR B
HYT 2: TS TGS U B |

ﬁwﬂw%ﬁs’uﬁ%ﬂ

s 11; PIg W I8 Tl ] |
Options :

1. ¢ Pacl Feept [ 3THRU BT R
2. % Had fSHY 11 ST HdT &
3. % 1 3R 11 39T 3TERU R &
4. % 1 3R TE I STIR0 HAT 8

Question Number : 17 Question Id : 97675513563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In this question, a statement has been given, followed by two assumptions numbered I and II. Analyse the two assumptions together and
determine which of them is/are implicit in the statement.

Statement: People who have high cholestrol are more prone to heart attack.

Assumptions:
I. Most of the deaths among people with high cholestrol are due to heart attacks.
I1. People who have low cholestrol do not have heart attacks.

Options :

1. ¥ Only assumption I is implicit

2. % Only assumption II is implicit

3. % Neither assumption I nor assumption II is implicit

4. # Both the assumptions are implicit

Question Number : 17 Question Id : 97675513563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YUY T, Th By faar a1 8, fS9 91 Sl ShHiferd YIRUMI 1 3R 11 &1 718 § 1 ST YRUM3H T Ueh A1 fazeiyor ¥ iR Fyiid &3 fob
STH A P A HYTH AR B
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YRUG:

. F= Pl aral antl & i gog fad & SR & PR BT
11 FF &7 & S IoReRTd SH BT 8, 38 Il 1 SR e8] Usdl g
Options :

1. ¢ ¥ad yron 1 Afka g

2. % Had YR 11 FlRd §

3. % 9 YR 1 3R 7 8 yron 1 fAfled 8

4. % g yRoME fAfga B

Question Number : 18 Question Id : 97675513564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by three conclusions, I, Il and III. You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1 : All people are singers.
Statement 2 : All dancers are singers.

Conclusion I : Some dancers are people.
Conclusion II : Some singers are people.
Conclusion III : Some singers are dancers.

Options :

1. ¥ Only conclusion II follows

2. # Only conclusion III follows

3. % Only conclusion II and III follow
4. % All conclusions I, IT and III follow

Question Number : 18 Question Id : 97675513564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § & py= feu U 8, forges a1 o9 s 111 3R 111 fRT W § 1 31Tt 39 U=l Y Tgl AT 8, Hdl 81 I8 IH=Id: I1d a2 3 fie
Tdid 81 3ueh! T fofg & R fop faw e fee st & @ o 1, afe 1S 8, df iU U ot & | 3 eRur SRl B

YT 1: G AT TS B
HY 2: gHY Tdb TS B |

sy 1. $& Tdd A& |
frpY 11: $© TS AT g
11I: & TS AP ¢ |
Options :
1. % $Had [5HY 11 STIR01 Hdl §
2. % Had By 111 SIIRU Hal §
3. ¢ $Had fTSHY 11 3R 111 SR Hd §
4. % uft Fpy 1, 11 SR 111 SR v §




Question Number : 19 Question Id : 97675513565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third number on the same basis as the second number is related to the first number.
8:72::12:7

Options :

1. % 144

2. % 120

3.¥ 156

4. % 168

Question Number : 19 Question Id : 97675513565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fahed o7 70 3 o RN ST ¥ 34t TR  Hafdd § o UaR § gt Tt ugdll S ¥ eftid g |
8:72:12:7

Options :

1. % 144

2. % 120

3. ¥ 156

4. % 168

Question Number : 20 Question Id : 97675513566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the wrong number in the following number series:
64, 48, 36,27, 12

Options :
1. % 48
2. % 36
3. %27
4. 12



Question Number : 20 Question Id : 97675513566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad ke gae § TTerd ST J1d @y
64, 48, 36, 27, 12

Options :
1. * 48
2. % 36
3.% 27
4.9 12
General Ability2
Group Number : 2
Group Id : 976755459
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Ability2
Section Id : 976755796
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755935
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675513567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the following number series:
37,50, 65, 82,

Options :
1. ¥ 101
2. % 100
3. % 99

4. % 102

Question Number : 21 Question Id : 97675513567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeRaa e gadr o W He:

37, 50, 65, 82,

Options :

1. ¥ 101

2. % 100

3. % 99

4. % 102

Question Number : 22 Question Id : 97675513568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which two signs should be interchanged to make the below equation mathematically correct?
16 x5+ 100+2-70=100



Options :
1.¥ + -
2. % x =
3.% 4+, +

4.% x,-

Question Number : 22 Question Id : 97675513568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu 71T gHieRu o I8t 99 & forg food gl famgl &l 10T 20 ¥ IRER SgaHT argy?
16 % 5+100+2-70 =100

Options :
l.¥ + -
2. % x, =
3.% +, =

4. % x -

Question Number : 23 Question Id : 97675513569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average score of A and B is 30, that of B and C is 42 and that of C and A is 54 in a cricket match. What is the average score of A, B and C?
Options :

1. * 35

2.9 42

3. % 70

4. % 84

Question Number : 23 Question Id : 97675513569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fhprc AT H A 3R B BT 3MUT TR 308, BIR CHT428 MR C AR ADBTI54 81 A, B 3R C BT 3N TR AT 82

Options :



1. # 35
2.9 42
3. % 70
4. % 84

Question Number : 24 Question Id : 97675513570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If -4x < -28 + 4, then which among the following is true?
Options :

1. ®# x<16

2. % x>5

3. % x<6

4 ¥ x>6

Question Number : 24 Question Id : 97675513570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 4x <28 +4 8, dl KT F A P AT I 82
Options :

1. ® x<16

2. % x>5

3. % x<6

4 ¥ x>6

Question Number : 25 Question Id : 97675513571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. ¥ 100



2. % 343
3. % 216
4. % 125

Question Number : 25 Question Id : 97675513571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawed & 9 & Te (Y e 3 90 § | 8TalD, Uh [Aded 31 19 &1 dve 1ol ¢ | 34 [dded &1 T8 B Sl 3 I 3T 5|
Options :

1. ¥ 100

2. % 343

3. % 216

4. % 125

Question Number : 26 Question Id : 97675513572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man has Rs. 336 in coins of 1-rupee, 2-rupees and 5-rupees. The number of coins of each denomination is equal. What is the total number of
coins with him?

Options :
1. % 42
2.9 126
3. % 84
4. % 76

Question Number : 26 Question Id : 97675513572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TEH! & UMY 1-BUT, 2-FUT 3R 5-3UY & Ryden! & 336 TUU € | TS Headi o Ryden! o1 U1 SRIER g | 3P U Ridep! &1
TR T B2

Options :

1. % 42




2.9 126
3. % 84
4. % 76

Question Number : 27 Question Id : 97675513573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given Venn diagram shows the number of members of a society who are parents, students or teachers. How many of them are only students?

A
(SN

Students Teachers

Parents

Options :
1. ¥ 35
2. % 58
3. % 43
4. % 45

Question Number : 27 Question Id : 97675513573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faU U 37 3MRa A U THIS & o\ &1 TST 1 ST 7T § SN AT1-Fan, o731 a1 e g1 3¢ T fovd ad o 82




(82N

Hrar-faar

Options :
1. ¥ 35
2. % 58
3. % 43
4. % 45

Question Number : 28 Question Id : 97675513574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between bikes, cars and vehicles?
Options :

2. ¢



Question Number : 28 Question Id : 97675513574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafad 7 ¥ &9 1 37 3T 956, HR 3R T8 & o1 & JeY bl a9 33T STl 82

Options :




Question Number : 29 Question Id : 97675513575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If North-East is South, West is North-East, then North is
Options :

1. #® East

2. ¥ South-East

3. # South

4. ® South-West



Question Number : 29 Question Id : 97675513575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe IR - Td SR 8 IR U IR -qg §, A IW g
Options :

1. % gd

2. ¢ Tf&urgd

3. % o

4. % GlEmruigm

Question Number : 30 Question Id : 97675513576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Darsh walks 5 km east, then turns south and walks 4 km, then turns east and walks 8 km, then turns south and walks 5 km, and turns to its right
and walks 13 km. Where is he now with respect to its starting position?

Options :

1. ¥ 9 km south
2. % 9 km north
3. % 13 km north
4. # 13 km south

Question Number : 30 Question Id : 97675513576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&3 5 km Jd & I 7, fOR féror o1 3R gSa1 8 3R 4 km I 7, R gd &1 3R a1 8 SR 8 km Tadl 7, fhR féur &t ek gear g
3R 5 km T B, 3R T T2 3R YT 8 3R 13 km TS 71 30 YRS A & Tefe 7 319 98 Pl 82

Options :

1. ¥ 9 km GI&f0T
2. % 9 km 3™
3. % 13 km 3R

4. % 13 km SI&OT



Question Number : 31 Question Id : 97675513577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nisha and Lalita start from the same point. Nisha cycles 9 km west, then turns to her right and cycles 8 km. Lalita cycles 4 km east, then turns
left and cycles 5 km, then turns left and cycles 13 km. Where is Lalita with respect to Nisha now?

Options :

1. # 5 km north
2. % 5 km south
3. % 3 km south
4. # 3 km north

Question Number : 31 Question Id : 97675513577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=1 SR iferat Ueh & g & S vl &1 =1 9 ko T3 1 SR Wit et @, bR So-ft < SR et § 3R 8 kn WfH et et
S| AT 4 ke Jd Pt 3R ATSfore Iamct €, fOhR §18 3R ISl § 3R 5 km TS Iald! 7, fh a12 3R g3t 8 SR 13 km WIZfHhd
Tl € | = & Geie § 3rd dfera el 87

Options :

l. # 5km 3t
2. % 5 km GI&IOT
3. ¢ 3 km GI&M0T
4. %® 3 km 3R

Question Number : 32 Question Id : 97675513578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

AN WA ?

Options :




3. ¢

Question Number : 32 Question Id : 97675513578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRd & 9 & T ST ATHA UY 3BT B Y7 B IR Rl 62



/\

Options :




Question Number : 33 Question Id : 97675513579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

= ]
N =
= I
LS
L

—

I

—

I




Question Number : 33 Question Id : 97675513579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu e fawedl & @ & te YT aF § guM B gTaifes, T fAdhed 30 9 o1 g 181 81 39 fashed &1 T &3 S 3170 T 3 g |

Options :

=
M=
= i
=
il
E
B

Question Number : 34 Question Id : 97675513580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third image on the same basis as the second image is related to the first image.

N

Options :
W
1. %
o
A
2. ®
N\
C XN
(I
(YN
Seted




Question Number : 34 Question Id : 97675513580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I faed o7 T8 B o IR B W I THR I J&fid g Ford TeR I gOst Bid uge a9 Yefed g |

DB

Options :
NN
1. %
as
A
2. %
A
C NN
VL
£
A
4, %




Question Number : 35 Question Id : 97675513581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following options is the wrong figure in the series?

M RI FlJ I RGIKRI ZINI R U
J G|K Z|N Uuim F
K Z|N ulm FIK G
NLQUMOAQL F|J LQG|JLAQZ
[A) (B) (c (o}

Options :

1. % Image A

2. % Image B

3. % Image C

4. ¥ Image D

Question Number : 35 Question Id : 97675513581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiad & § ®F 9 faded 4aar § Tad SHhid 82

MRIF[JIRG|IKRIZ[NI RU
J GlK z N ulm F
K Z|N ulm FlK G
NLQuU|MmaL Fly Laegld Laz
(&) (B} =] (0]
Options :
1. % BTA
2. % BAB
3. % BfAC
4. ¢ BAD

Question Number : 36 Question Id : 97675513582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following cube in the answer figure cannot be made based on the unfolded cube in the question figure?

—HHG

X

Options :

[/ /[
1. ¢
2. %

3. %




Question Number : 36 Question Id : 97675513582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR MBI H o &1 Y 0% ST B 181 AYS T 99 & 3MYR W 78] ST S Yhell 82

—HHS

Options :

1.¥




O

[/
/

3. %

!
i

Question Number : 37 Question Id : 97675513583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line MN, then which of the answer figures is the correct image of the given figure?




N

FANY L N A SV

Options :

A A VN MW R
AAA A vV Vv Y &
% » *
. o en




Question Number : 37 Question Id : 97675513583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H%WEQ‘UT@%@TMRIWT@TW%,a‘rﬁq@w&wﬁraﬁﬂé&wﬁrmwmuﬁﬁa%

>>
-
>>>
>
>
N
Options :
>
>
P
>
>>
>
1. %
<
<
<<<
<
<<
<
2.9




>
<
>
> <
>
3 % > <
< <
< <
<<<
4. % <<

Question Number : 38 Question Id : 97675513584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure patterns can be combined to make the question figure?

s

Options :

7

1. ¢




Question Number : 38 Question Id : 97675513584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRyd & ¥ ®F T SR AHIA U B Uy ATHId 91 & o ST S el 62

AN
N\

Options :




1. ¢

3. %

Question Number : 39 Question Id : 97675513585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.



/

Options :

1. ¢

U0 A)[€




Question Number : 39 Question Id : 97675513585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS IR MBI, I MBI HT 70 B o Uy i fediafafza g1

Options :

1. ¥

<D
_
O




(D

Question Number : 40 Question Id : 97675513586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many maximum paralleograms are there in the question figure?

Options :
1. % 4
2. %5
3.6
4, %7

Question Number : 40 Question Id : 97675513586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty 3T H ford SHfIHTH TR Iquel 82

Options :
1. % 4
2. %5



General Awarenessl

Group Number : 3

Group Id : 976755460
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awarenessl

Section Id : 976755797
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755936
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 97675513587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Purana Qila of Delhi was built by




Options :

1. # Aurangzeb

2. # Shah Jahan

3. % Sher Shah Suri
4. ¥ Babur

Question Number : 41 Question Id : 97675513587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fereet 1 g fopett SR ST T T
Options :

1. % SRo

2. % T8 STg

3. IR G

4, % dld}

Question Number : 42 Question Id : 97675513588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following folk music revolves around the separation of lovers?
Options :

1. ¥ Birha

2. % Kajari

3. % Tappa

4. % Jugni

Question Number : 42 Question Id : 97675513588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e # & o a1 die Irfia DRl & QuUahRuT & SRIUR g1 32

Options :



1. ¢ foRET
2. * mil
3, % o

4. % ST

Question Number : 43 Question Id : 97675513589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yaosang is a festival celebrated in for five days in spring.
Options :

1. # Mizoram

2. % Manipur

3. # Nagaland

4. % Meghalaya

Question Number : 43 Question Id : 97675513589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y17 9d H Uid f&1 o ferg o T S aTel AER g
Options :

1. % fieiRe

2. ¢ HiOIR

3. % AMTIdS

4. % TYTY

Question Number : 44 Question Id : 97675513590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tertali dance is part of a religious ritual performed by the Kamar tribe of which of the following states?
Options :

1. % Himachal Pradesh



2. # Haryana
3. # Rajasthan
4. ¥ Madhya Pradesh

Question Number : 44 Question Id : 97675513590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rl T, Fafifad § § g I &) SR Sefd gRT T MU U e1fife 3re &1 fewar 82
Options :

1. % feurEd uew

2. % giamon

3. % SIRYH

4. ¢ AG UG

Question Number : 45 Question Id : 97675513591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following banks is the first bank in India with an ISO certification for Total Branch Banking?
Options :

1. ¥ Canara Bank

2. % Punjab National Bank

3. # Central Bank of India

4. ¥ Bank of India

Question Number : 45 Question Id : 97675513591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRd o ¥ &9 91 d% $ot AT SfehTT & o 1SO THIIH & 1Y YR 6T U8l 8P 87
Options :
1. ¥ SR dH

N EN A
2. % OJd AR dh




3. % Jod d 3h gfedm
4. % % 3ffw Sfear

Question Number : 46 Question Id : 97675513592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not an example of a direct tax?
Options :

1. * Income tax

2. % Estate tax

3. ¥ Wealth tax

4. ¥ Customs Duty

Question Number : 46 Question Id : 97675513592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafad o @ &1 1 Ugel R BT ISR 6] 82
Options :

1. % 3P

2. % FUaI o

3. % Y P

4. ¢ 1 Yoo

Question Number : 47 Question Id : 97675513593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Reserve Bank of India was nationalised in the year
Options :

1. % 1938

2. % 1946

3.9 1949



4. % 1935

Question Number : 47 Question Id : 97675513593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Rerd S 1 AP 9y ¥ fasam T |
Options :

1. % 1938

2. % 1946

3.9 1949

4. % 1935

Question Number : 48 Question Id : 97675513594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consumption + Investment + Government Expenditure + Export - Import =
Options :

1. % Net National Product

2. % Gross National Product

3. #* National Income
4. ¥ Gross Domestic Product

Question Number : 48 Question Id : 97675513594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JTHNT + 1921 + TRPRI 377 + Faid - 3mard =
Options :

1. % Y AP I

2. % Fobel AP TG

3. % P 3my

4. ¥ Fhd TG TG




Question Number : 49 Question Id : 97675513595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in Budget 2021, the fiscal deficit for financial year 2020-21 is pegged at of Gross Domestic Product (GDP).
Options :

1. ® 4.5%

2. % 6.8%

3. ¥ 9.5%

4. % 7.7%

Question Number : 49 Question Id : 97675513595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§ole 2021 H OIY0N & 3R, faxita g 2020-21 & T IS Y °TeT Y6 d 9 TG (GDP) & IR BTG
Options :

1. #® 4.5%

2. % 6.8%

3.9 9.5%

4. % 7.7%

Question Number : 50 Question Id : 97675513596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the SI unit of Force?

Options :

1. # Watt

2. % Joule

3. ¥ Newton

4. % Kelvin

Question Number : 50 Question Id : 97675513596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

9 B SI IPTs 1 ]2
Options :

1. % gic

2. % @

3. ¢ e

4. % i

Question Number : 51 Question Id : 97675513597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rhizopus reproduces through the process of

Options :

1. # regeneration

2. ® fission

3. % spore formation

4. ¥ fragmentation

Question Number : 51 Question Id : 97675513597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RESIER TfshaT & HIH J Toi- Al 6|
Options :

1. % QoM

2. % fibyH

3. ¢ TR BIHRH

4. % ToIHCRM

Question Number : 52 Question Id : 97675513598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Environment Protection Act was passed in the year
Options :

1. ¥ 1986

2. % 1982

3. % 1976

4, % 1980

Question Number : 52 Question Id : 97675513598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ERICRURSRAIIC DI EuE| ay ® g foar 7 |
Options :

1. % 1986

2. % 1982

3. % 1976

4. % 1980

Question Number : 53 Question Id : 97675513599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an example of a strong acid?
Options :

1. % Hydrochloric acid

2. % Sulphuric acid

3. ¥ Carbonic acid

4. # Nitric acid

Question Number : 53 Question Id : 97675513599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafad o @ o a1 wfdaee st (T TRiS) o7 Iamexu T8l 82



Options :

1. % IESlalNG 3
2. ® T[®Dh[T

3. ¥ BIEHD 3

4. % AT3fdd It

Question Number : 54 Question Id : 97675513600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
disease is caused by Plasmodium.

Options :

1. # Typhoid

2. # Cholera

3. % Measles

4. ¥ Malaria

Question Number : 54 Question Id : 97675513600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T @RAIETH & HROUI G 3|
Options :
1. % 3fF SR
2. % gull
3. % G
4. AR

Question Number : 55 Question Id : 97675513601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When an acid and a base react together to form salt and water, it is called

Options :



1. ¥ Neutralisation Reaction
2. % Decomposition Reaction
3. % Displacement Reaction

4. % Combination Reaction

Question Number : 55 Question Id : 97675513601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS U 3 3R Ueh &Rab AT AT R & qq0T 3R U &1 ©, o 39 CZREIGI
Options :

1. ¢ JaRAART 3ifHfshar

2. % 3[Uyc HfHfhAT

3. % YiARITY 3ifHfehar

4. % gYIe 3iffehar

Question Number : 56 Question Id : 97675513602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which soil is formed by weathering old crystalline or metamorphic rocks?
Options :

1. # Alluvial

2. % Arid

3. ¥ Red

4. % Black

Question Number : 56 Question Id : 97675513602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R fopedia a1 HraaRd /d gRT 7o gaT &1 FHior giar 82
Options :

1. % S[dig




2. % [
3. ¥ A
4. % HTal

Question Number : 57 Question Id : 97675513603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kangto is the highest peak of which of the following state?
Options :

1. ¥ Arunachal Pradesh

2. # Karnataka

3. % Himachal Pradesh

4. # Tamil Nadu

Question Number : 57 Question Id : 97675513603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTa fFafafad o 9 forg g @) gt drel 82
Options :

1. ¢ 3RO UexT

2. % HACH

3. % fgumad U=

4. % g g

Question Number : 58 Question Id : 97675513604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tawa is a tributary of which of the following rivers?
Options :

1. % Ganga

2. % Narmada



3. # Krishna
4. % Godavari

Question Number : 58 Question Id : 97675513604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a1 Faffed 3 3 5 7 3t ST 8
Options :

1. % T

2. ¢ THal

3. % U

4. % Tera’]

Question Number : 59 Question Id : 97675513605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The deepest point in the Indian Ocean is in which trench?
Options :

1. # Tonga trench

2. % Philippine Trench

3. ® Puerto Rico Trench

4. % Sunda trench

Question Number : 59 Question Id : 97675513605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&g AEMIFR &1 Ya e foig fra T A 82
Options :

1. % QA

2. % fOferTi Tl

3. % QUSRI®! A




4. ¥ I Td

Question Number : 60 Question Id : 97675513606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following vedas is famous as 'Books of Rituals'?
Options :

1. * Rig

2. % Atharva

3. % Yajur

4. % Sama

Question Number : 60 Question Id : 97675513606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad 7 3 o1 9143 '3 &1 g & T4 4 URis 82

Options :
1. = B
2. % 3yd
3. ¥ o}
4, % HH

General Awareness2
Group Number : 4
Group Id : 976755461
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20
Is this Group for Examiner? : No

General Awareness2

Section Id : 976755798
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755937
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 97675513607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the founder of the Lodhi Dynasty?
Options :

1. ® Sikandar Lodi

2. # Ibrahim Lodi

3. ¥ Bahlul Lodi

4. % Khizir Lodi

Question Number : 61 Question Id : 97675513607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol & 3 o aieh 331 &1 TRITS U1

Options :



1. % e dre
2. % SelfgH dldl
3. ¢ §gqd dlat
4. % IR A

Question Number : 62 Question Id : 97675513608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the court poet of King Prithviraj Chauhan?
Options :

1. ¥ Chand Bardai

2. % Kalidasa

3. % Amir Khusrau

4, % Ravikirti

Question Number : 62 Question Id : 97675513608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ ©1F o GRS e &1 eRaR Bid U1
Options :

1. ¢ d¢ e
2. % PHIfcrary
3. % ORI
4. % IfaPpifcd

Question Number : 63 Question Id : 97675513609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the second battle of Tarain fought?
Options :

1. % 1190



2.¥ 1192
3. % 1195
4. % 1197

Question Number : 63 Question Id : 97675513609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARIRT DT g Yo P ST T YT?
Options :

1. % 1190

2.9 1192

3. % 1195

4. % 1197

Question Number : 64 Question Id : 97675513610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hiuen Tsang visited India during the time of
Options :

1. # Chandragupta Maurya
2. # Vikramaditya

3. % Ashoka

4. ¥ Harshavardhana

Question Number : 64 Question Id : 97675513610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U] & UG P SR HRd BT SRT b T |

Options :

1. % I U
2. % fasharidd




3. % 3WH
4. ¢ gYaeq

Question Number : 65 Question Id : 97675513611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Treaty of Seringapatam signed?
Options :

1. % 1786

2. % 1798

3.4 1792

4. % 1783

Question Number : 65 Question Id : 97675513611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRS A TR gEAER ha fHby U A2
Options :
1. % 1786
2. % 1798
3.9 1792
4. % 1783

Question Number : 66 Question Id : 97675513612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following books is not written by Khushwant Singh?
Options :

1. # A History of the Sikhs

2. % Train to Pakistan

3. #* Delhi

4. ¥ Living Shadows



Question Number : 66 Question Id : 97675513612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & 9 & 9 frare e Rig gRT 8] ford! T8 82
Options :

1. % U e e g Risw

2. % ¢ ¢ Ulfbed

3. % faecit

4. ¢ AT oIS

Question Number : 67 Question Id : 97675513613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following movies won the 65th Filmfare Awards 2020 in the 'Best Music Album' category?
Options :

1. % Saand Ki Aankh

2. % War

3. ¥ Gully Boy

4. ® Article 15

Question Number : 67 Question Id : 97675513613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead 4 9 forg e 7 9d9y Tiiid Tead 9ol & 65t ihehaRk RIBR 2020 SHar
Options :

1. % G &I 3@

2. % dR

3. ¥ Tl €I

4. % i 15




Question Number : 68 Question Id : 97675513614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wide Angle' is an autobiography of which of the following sportspersons?
Options :

1. ¥ Anil Kumble

2. % Sania Mirza

3. # Sachin Tendulkar

4. % Ricky Ponting

Question Number : 68 Question Id : 97675513614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qgS e PR 3 @ e RaTd) o oferwe &7
Options :

1. ¢ e el

2. % i el

3. % g dgaax

4. % ¥l gifd

Question Number : 69 Question Id : 97675513615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Abhay Ghat is the memorial of which of the following leaders?
Options :

1. # Atal Bihari Vajpayee

2. % Charan Singh

3. % Rajiv Gandhi

4. ¥ Morarjee Desai

Question Number : 69 Question Id : 97675513615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

314y gre fafeRad o 9 fd Ad1 &1 RS 2
Options :

1. % 3 fogRY areudt

2. % T g

3. % Xrofig Tidh

4. ARRSN ¢S

Question Number : 70 Question Id : 97675513616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an autobiography of Jawaharlal Nehru?
Options :

1. ¥ Why I Am An Atheist

2. % Toward Freedom

3. % Wings of Fire

4. # The Story of My Experiments with Truth

Question Number : 70 Question Id : 97675513616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad & T ®F W Taedd A8 B! ATHBYT 82
Options :

1. * IS 3% TH U ifte

2. ¥ T8 wieH

3. % {47 3t BRR

4. % T WRY 31 HIY TRIURHCH fay gy

Question Number : 71 Question Id : 97675513617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the real name of Gulzar?
Options :

1. % Jaswant Rai Sharma

2. % Muhiyuddin Ahmed

3. ¥ Sampooran Singh Kalra

4. % Raghupati Sahay

Question Number : 71 Question Id : 97675513617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NNSIRECAl qRfdes MY TﬂT%‘?

Options :

1. % Sdd g Al

2. % ggI3e A 3ghq

3. v ol Rig SR

4. % IgUld Ggr™d

Question Number : 72 Question Id : 97675513618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Goods and Services Tax (GST) has commenced with the enactment of the Constitution Amendment Act.
Options :

1. # 98th

2. % 99th

3. % 100th

4.9 101st

Question Number : 72 Question Id : 97675513618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I Td Ja1 IR BT foparaa Ty ity IfRfTm & B & IY T g3 g

Options :



1. % 9gd
2. % 99d
3. % 100d
4. 101d

Question Number : 73 Question Id : 97675513619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following part of the Indian Constitution is associated with Citizenship?
Options :

1. = III

2. ¥ 11

3.%V

4. % 1V

Question Number : 73 Question Id : 97675513619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Wfau™ & FofaRad YT & 9 & A1 TRRedT 3 981 62
Options :

1. = III

2.¥11

3.2V

4. % 1V

Question Number : 74 Question Id : 97675513620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The method of election of President in the Indian Constitution is borrowed from the constitution of

Options :

1. # United States of America



2. ¥ Ireland
3. % Germany

4. * France

Question Number : 74 Question Id : 97675513620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Hfaer # yufd & 19 BT gl & Tfay™ ¥ YR ot 718 &
Options :

1. % o Iy SR

2. ¥ RIS

3. % oY

4. % 1Y

Question Number : 75 Question Id : 97675513621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Schedule in the Indian Constitution contains the Forms of Oaths or Affirmations?
Options :

1. % Third

2. # Fourth

3. # Fifth

4. % Sixth

Question Number : 75 Question Id : 97675513621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Ay d Hafaiad o & 9 forad =9y a1 goial & &4 M 62
Options :

1. ¢ AR

2. % Y



3. % giId
4. % BS

Question Number : 76 Question Id : 97675513622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Golden Slam is winning Grand Slam tournaments as well as the Olympics Gold Medal.
Options :

1. #* three

2. ¥ four

3. % two

4. % five

Question Number : 76 Question Id : 97675513622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e WA o1 31 ¥ Wi gafde iR IrY gt siicifie ol uee Sia g
Options :

1. % dH

2. ¥ dR

3. % Q)

4. % U

Question Number : 77 Question Id : 97675513623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Deodhar Trophy is associated with which of the following sport?
Options :

1. # Table Tennis

2. % QGolf

3. % Cricket



4. # Hockey

Question Number : 77 Question Id : 97675513623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GaeR ¢! FafRad § 9 forg o 4 et 82
Options :

1. ® ¢od ¢

2. % Ticth

3. ¢ b

4. % gl

Question Number : 78 Question Id : 97675513624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
won the gold medal in wrestling at the Commonwealth Games in 2010.

Options :

1. # Vinesh Phogat
2. ¥ Geeta Phogat
3. % Babita Phogat
4. % Sakshi Malik

Question Number : 78 Question Id : 97675513624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12010 H IFHSA Well H S H WUl G St AT

Options :

1. % g9 BiTe
2. ¢ Tidl BRTIC
3. % §aidl BITe
4. % qief gferd



Question Number : 79 Question Id : 97675513625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
became the first and only tennis player to have won the Golden Slam in 1988.

Options :

1. ¥ Steffi Graf

2. # Mats Wilander
3. % Rick Leach

4. % Andre Agassi

Question Number : 79 Question Id : 97675513625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1988 H Tea WA Siid- aTdl / dTelt Ugd 3R U HE ¢ Raaret a9 / a1

Options :

1. ¢ LB AH
2. % Hcy fadex
3. % Rep ol

4. % 3T 3T

Question Number : 80 Question Id : 97675513626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who won the women's singles in Yonex All England Badminton Championships 2020 in Birmingham, England?
Options :

1. # Yuki Fukushima

2. % Sayaka Hirota

3. # Chen Yu Fei

4. % Tai Tzu Ying

Question Number : 80 Question Id : 97675513626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sftfar, Seis # gNag 3iid $ids dsfHie AfaRT 2020 H Al Ted feam shdmr

Options :

1. % gDl HPHIRHET
2. % 11 fgRier
3. % J GBI

4. ¥ T8 ag T
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 97675513627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A number 6 93 is divisible by 9. Find the number that can be filled in the blank.
Options :

1. =7

2.% 3

3.9

4. % 6

Question Number : 81 Question Id : 97675513627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 6 93,9 4 faHTe 31 3ich J1a X o Rad RIA H *RTS IS |
Options :

1. %7

2. %3

3.9

4. % 6

Question Number : 82 Question Id : 97675513628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the remainder when the largest 4 digit number is divided by 12.
Options :

1.¥3

2. %5

3.% 4

4. % 2



Question Number : 82 Question Id : 97675513628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e I F1 4 3P T 1 12 A fauifora fosan oian g, Jvwd J1d B |
Options :

1.¥3

2.% 5

3.% 4

4. % 2

Question Number : 83 Question Id : 97675513629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the greatest number of four digits which is divisible by 5, 25, 30 and 45?
Options :

1. ¥ 9900

2. % 9450

3. % 9820

4. % 9800

Question Number : 83 Question Id : 97675513629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 3{p} ! O IS T-ATHT G SNl 5, 25, 30 3R 45 J faHT 82
Options :

1. % 9900

2. % 9450

3. # 9820

4. % 9800

Question Number : 84 Question Id : 97675513630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

There are five bells which ring at regular intervals of 4, 8, 12, 16 and 20 seconds respectively. How many times will the bells ring together in 120
minutes?

Options :
1. ® 40
2. % 25
3. % 35
4. ¥ 31

Question Number : 84 Question Id : 97675513630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Urg °fedr @ ol ShH: 4, 8, 12, 16 3R 20 Ahs P AT R W aordt g 1 120 e # fha-it IR Ues Iqry gfeat gt
Options :

1. % 40

2. % 25

3. % 35

4. ¥ 31

Question Number : 85 Question Id : 97675513631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify: 25 percent of 700 x 16.8 percent of 500
Options :

1. ® 15700

2. % 14700

3. % 13500

4. = 12700

Question Number : 85 Question Id : 97675513631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
IRAIPd HY: 700 BT 25 TR x 500 BT 16.8 UfA=Id
Options :

1. ® 15700

2. % 14700

3. % 13500

4. % 12700

Question Number : 86 Question Id : 97675513632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the LCM of two numbers who are in the ratio 3:5 and whose HCF is 8.
Options :

1. % 110

2. % 90

3. % 100

4.9 120

Question Number : 86 Question Id : 97675513632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l TeATeft o TYTH THIUAS T 3 ol 3:5 P AT | & MR FoHHT HgaH THIad® 8 |
Options :

1. % 110

2. % 90

3. % 100

4.9 120

Question Number : 87 Question Id : 97675513633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The least number which should be added to 4994 so that the sum is exactly divisible by 5, 6, 7 is:



Options :
1. % 44
2.9 46
3. % 45
4. = 47

Question Number : 87 Question Id : 97675513633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A AT for 4994 T ST ST A1fRT dlfds AR 5, 6, 7 W TR oRg ¥ faursa g
Options :

1. *= 44

2. ¥ 46

3. % 45

4. = 47

Question Number : 88 Question Id : 97675513634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The remainder when 16 % is divided by 17 is:
Options :

1.¥1

2.%0

3.% 2

4. % 16

Question Number : 88 Question Id : 97675513634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W 16 %0 T 17 9 fauford fvar Sirar & O Yvwar &

Options :



1.¥1
2.%0
3.% 2
4. % 16

Question Number : 89 Question Id : 97675513635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simplify the following equation: 164 + 2820/94 - 48 x 4 =7
Options :

1.2

2. % 63

3. % 34

4. % 78

Question Number : 89 Question Id : 97675513635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad THiHRuT & TRl d BH: 164 + 2820/ 94 - 48 x 4 =2

Options :
1.2

2. % 63
3. % 34
4. % 78

Question Number : 90 Question Id : 97675513636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the first 20 overs, a team's run rate in a game of cricket was 4.80. What run rate is required in the next 30 overs to score 300 runs in total?
Options :

1. %7

2.9 6.8



3. % 6.6
4. % 6.7

Question Number : 90 Question Id : 97675513636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tgd 20 3R} H, fohdre & Wd & Ueh A BT 39 & 4.80 UTI Hd | 300 I I & 7T AT 30 3R} H {5y 37 R Y SATIIH T 82
Options :

1. %7

2.9 6.8

3. % 6.6

4. % 6.7

Question Number : 91 Question Id : 97675513637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Arup's opinion, his weight is greater than 75 kg but less than 82 kg. His friends think that Arup's weight is greater than 70 kg but less than 80
kg. His mother thinks that his weight cannot be greater than 79 kg. If all of them are correct in their estimation of Arup's weight, what is the
average of different probable weights of Arup?

Options :

1. ¥ 77 kg
2. % 76 kg
3. % 75kg
4. % 74 kg

Question Number : 91 Question Id : 97675513637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{TSY I I H, DT Iol 75 kg F 31 &, A 82 kg TV HH 8 | SUP K| DI I & [ 3RS BT do 70 kg I 3HfIF g, Al 80 kg
Y HY g ITB! U DI AT g fob IUHT G 79 kg J 31 781 81 qbd g1 Tl I T 3150 & To & I SITHH | el §, Y 317
& fafts Surfad aor &1 3Nad T 82

Options :




1. ¥ 77 kg
2. % 76 kg
3. % 75kg
4. % 74 kg

Question Number : 92 Question Id : 97675513638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider a bill of Rs. 500000. Find the difference between a discount of 30 % on the bill and of two successive discounts of 15 % and 15 % ?
Options :

1. # Rs. 11500

2. % Rs. 12000

3. % Rs. 12500

4. ¥ Rs. 11250

Question Number : 92 Question Id : 97675513638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

500000 TTT & fae TR faaR d¥ | fad TR 30% B G 3R 15% 3R 15% B G1 D Fe & d1d R J1d B2
Options :

1. * 11500 %Y

2. * 12000 >UUQ

3. % 12500%UU

4. % 11250 24U

Question Number : 93 Question Id : 97675513639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 30 percent of x = b, then b percent of 30 is the same as
Options :

1. ¥ 9 percent of x



2. # 8 percent of x
3. % 20 percent of x
4. % 10 percent of x

Question Number : 93 Question Id : 97675513639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe x BT 30 TFIRIA = b §, 1 30 T b UfA=IT & R |
Options :

1. ¢ x BT 9 U=

2. % x &I 8 UfARId

3. % x BT 20 Ufc=d

4. % x 110 Yid=rd

Question Number : 94 Question Id : 97675513640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the percentage error that occurred if Raj, by mistake, multiplied a number by 8/10 instead of 10/8?
Options :

1. % 25 percent

2. % 30 percent

3. % 20 percent

4. ¥ 36 percent

Question Number : 94 Question Id : 97675513640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=T Ffe 1 B S ad giclt 8, AfS et T, A A, 10/8 & T 8/10 J T TSAT 0T Y 812
Options :

1. % 25 gfd=rd

2. % 30 Yfd=rd



3. % 20 Ufa=d
4.+ 36 UfaRId

Question Number : 95 Question Id : 97675513641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of a cycle depreciates at the rate of 20 percent every year. It was purchased 2 years ago. If its present value is Rs. 10000, what was the
purchase price?

Options :

1. ¥ Rs. 15625
2. % Rs. 15000
3. % Rs. 16000
4. % Rs. 14000

Question Number : 95 Question Id : 97675513641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Trsford BT e g Iy 20 UfaRId ) &R T Heug™ &Rl 8| 39 2 aY Ugd W/RIeT 7147 1| IS 39T IHM Jed 10000 FUT &, oY WG
Hd |1 Y1

Options :

1. ¥ 15625 30U

2. % 15000 >UU¢

3. % 16000 %UU¢

4. % 14000 >UUQ

Question Number : 96 Question Id : 97675513642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A vegetable vendor sells his vegetables using weights 30 percent less than the true weights and makes a profit of 10 percent. Find his total gain
percentage. (approximate)

Options :
1. ¥ 51 percent



2. ¥ 57.14 percent
3. % 47 percent
4. # 62 percent

Question Number : 96 Question Id : 97675513642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Teoit fashdT 370t feotal B el it I 30 U= HH aoT BT ITART HXb S9dT § 3R 10 YA BT AH AT BT 8 | ITHT Hd
Y UTRIT 1A HR | (SFATH)

Options :

1. % 51 gfawrd
2. ¥ 57.14 Ufa=rd
3. % 47 gfaid
4. % 62 gfaerd

Question Number : 97 Question Id : 97675513643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sahid bought some shirts and marked up all 20 percent higher. He gave 15 percent discount on 50 percent of total shirts. If he wants to have at
least 4 percent profit, how much discount he should offer while selling the remaining shirts?

Options :

1. # 12.65 percent
2. % 11.67 percent
3. # 12.67 percent
4. % 13 percent

Question Number : 97 Question Id : 97675513643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS 7 F© C Ta AR G BT 20 Tl 3 § fafed o | 399 $ S F 50 Tla=d WR 15 WId 31 ge & e SY FH A A
4 TT=Td Y T AT 8, <) S XY [T ! o 9 faae g€ UG SRl ange?

Options :



1. % 12.65 Ufd2rd
2. ¥ 11.67 Ufa=d
3. % 12.67 Ufa=rd
4. % 13 gfazrd

Question Number : 98 Question Id : 97675513644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If an AC is purchased for Rs. 40,000 and sold for Rs. 38,000, find the loss percent.
Options :

1. * 3 percent

2. % 5 percent

3. % 3.5 percent

4. % 4.5 percent

Question Number : 98 Question Id : 97675513644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g T AC BT 40,000 TUY H WRIST T 3R 38,000 TAU & 4T 74T, I T Ufi=rd I1d o3|
Options :

1. % 3 gfderd

2. ¢ 5 Yfa=rd

3. % 3.5 gfd=rd

4. % 4.5 yfa=rd

Question Number : 99 Question Id : 97675513645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There is a mixture of 50 litres in which milk and water are in the ratio of 3 : 2. If we have to make this ratio 3 : 4, then what is the quantity of
water that is required to be added to this mixture to obtain the desired ratio?

Options :
1. % 15



2.9 20
3. % 25
4. % 30

Question Number : 99 Question Id : 97675513645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

50 THex BT U Hefor g fors go IR UMt 3 2 2 & U H € | Ife 88 I8 31Urd 3 : 4 ST &, <1 aifed SIaTd UTe & & ol 9 o
7 SIS S aTefl 3TIRae Ut &b AT T | 2

Options :

1. % 15

2. ¢ 20

3. % 25

4. % 30

Question Number : 100 Question Id : 97675513646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of two numbers is 2:3 and the sum of their cubes is 2240. The difference of number is:
Options :

1. * 6

2.9 4

3.%7

4. %9

Question Number : 100 Question Id : 97675513646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& T3l T ST 2:3 § SR Sh U1 &1 TRT 2240 § | TSATSH & &1 SR G -
Options :

1. % 6

2.9 4



3. %7

4.%9
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Question Number : 101 Question Id : 97675513647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Original salaries of Sita and Mita were in the ratio 3 : 5. But recently the salary of each was decreased by Rs. 3000, the new ratio became 10 : 17.
What is Mita’s new salary?

Options :

1. % Rs. 1,22,000
2. % Rs. 1,20,000
3. ¥ Rs. 1,02,000
4. # Rs. 1,00,000

Question Number : 101 Question Id : 97675513647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 SR i1 &1 gal da1 3 : 5 & JTd H UT| Afch 8T 81 H Ud® o da Bl 3000 SUY I TSTIT 74T, 47 U 10 : 17 81 77| HidT &l
T41 39 T 82

Options :

1. % 1,22,000 3UQ

2. % 120,000 3UY

3. ¢ 1,02,000 ¥TT

4. % 1,00,000 $Q

Question Number : 102 Question Id : 97675513648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money at simple interest amounts to Rs. 1630 in 3 years and to Rs. 1708 in 4 years. What is the sum invested?
Options :

1. ¥ Rs. 1396

2. % Rs. 1474

3. ¥ Rs. 1502

4. ® Rs. 1309

Question Number : 102 Question Id : 97675513648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



IR ST TR Y-RIRT &1 AR 3 I H 1630 FUT SR 4 W H 1708 TUY g | FAW D1 715 AT T 82
Options :

1. ¢ 1396 ¥UT

2. % 1474 30U

3. % 1502 3UQ

4. % 1309 ¥UT

Question Number : 103 Question Id : 97675513649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the difference between the compound interests on Rs. 10000 for 2 years at 5 percent per annum compounded yearly and half-yearly?
Options :

1. % Rs. 10.32

2. % Rs. 13.78

3. ¥ Rs. 13.13

4. % Rs. 10.87

Question Number : 103 Question Id : 97675513649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 Tfarrd ufdad &x R 2 9 & fRIE 10000 FUY R Thafg TS & did 3R 1 8 Ford arfias oIk srefariiies & & Thgfs fovan T g 2
Options :

1. % 10.32 %4

2. % 13.78 ®UUQ

3. ¥ 13.13 24U

4. % 10.87>4U¢

Question Number : 104 Question Id : 97675513650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calculate the effective yearly rate of interest when the rate of compound interest on a sum of money is 6 percent per annum compounded
quarterly?



Options :

1. ¥ 6.14 percent
2. % 5.14 percent
3. % 7 percent

4. % 7.14 percent

Question Number : 104 Question Id : 97675513650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS &1 YUTA aTfes R 1 0T 63 ol Th & A TR Tehgfg TS Bt &R 6 Ufawrd ufaas g o fammgt aswgfe frar man g2
Options :

1. ¢ 6.14 Ofa=rd

2. % 5,14 gfa=d

Question Number : 105 Question Id : 97675513651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If it takes 10 minutes for Mohan to cross a 1200 m long bridge, calculate his speed in km per hour?
Options :

1. %25

2. % 6.7

3. %89

4. 72

Question Number : 105 Question Id : 97675513651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g HIgd DI 1200 m TS G I UR B | 10 f7e T €, A km U € T IGDH1 T BT TT0UAT B39

Options :



1. % 25
2.% 6.7
3. % 89
4.9 72

Question Number : 106 Question Id : 97675513652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the speed in which an aeroplane needs to travel at, if it has to travel the same distance in 5 hours which it travelled at a speed of 200 kmph in
8 hours?

Options :

1. % 320 kmph
2. % 325 kmph
3. % 350 kmph
4. % 260 kmph

Question Number : 106 Question Id : 97675513652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 710 J1d B ForgH U gaTs STgTe ! AT B B1 SATTIDI &, I I8 S 8 S H 200 kmph B g3 00 BT 51 98 g IS4 5 G H g
AT I

Options :

1. ¥ 320 kmph

2. % 325 kmph

3. ® 350 kmph

4. * 260 kmph

Question Number : 107 Question Id : 97675513653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the speed of a train is normally 162 kmph but due to stoppages, it becomes 135 kmph, then find out that for how many minutes does the train
stop per hour?



Options :

1. # 2 min
2. * 4 min
3. % 7 min

4. % 10 min

Question Number : 107 Question Id : 97675513653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS U YS! ! T TTHG TG I 162 kmph §, Al 381G & HRUL, TE 135 kmph 81 S 8, 1 F1d B3 fob YerTre! Ufd € forda fire
& fore vt g2

Options :

1. % 2 fiFe

2. % 4fC

3. % 710 e

4. 10 e

Question Number : 108 Question Id : 97675513654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do a work in 25 days and B in 20 days. If they work on it together for 5 days, calculate the amount of work that will remain to have been
done?

Options :
1. % 7/20
2. % 9/20
3.9 11/20
4. % 13/20

Question Number : 108 Question Id : 97675513654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, 25 f& 7 U BT = T § 3R B, 20 37l H & Trar 31 32 3 5 3l & Rl 39 IR Ues 1Y 11 1 8, O 39 HIH &1 AE Bt



TOT B T QRT =1 ST 82
Options :

1. # 7/20

2. % 9/20

3.9 11/20

4. % 13/20

Question Number : 109 Question Id : 97675513655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Sanya can do a piece of work in 30 days, and Tanya is 50 percent more efficient than Sanya, then Tanya can complete the same piece of work
in days.

Options :

1. % 15

2. % 18

3.9 20

4. % 24

Question Number : 109 Question Id : 97675513655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g a1 30 fal H U 10 HR qohdll 8, SR AT, 1 Bt a1 § 50 Uia=rd i $=1a §, o a1 agt dr| T A QTR
T gl

Options :

1. % 15

2. % 18

3.9 20

4. % 24

Question Number : 110 Question Id : 97675513656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A can build a boat in 20 days and B can do the same work in 16 days. If with C's help, they can complete the job in 6 days, find the time C will
take to complete the job alone (fraction to be considered as full day)?

Options :

1. ¥ 19 days
2. % 24 days
3. % 21 days
4. % 22 days

Question Number : 110 Question Id : 97675513656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, 20 T T T 1 &1 91 Tahall § 3R B, 16 ol § 98] B &= Ahdl ¢ 1 Al ¢ B WA ¥, 9 6 &1 H HTH R &R Tahd ©, df C B
el HTH IR H T T a1 THT 37d B (8= ol QR1 fa= |1 Sraem)?
Options :

1.¢ 19feq
2. % 24faT
3. % 21 faq
4. % nfea

Question Number : 111 Question Id : 97675513657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The surface area of a cube is 2166 sq cm. Find its volume in cu cm.
Options :

1. ¥ 6859

2. % 5086

3. % 4590

4. % 6211

Question Number : 111 Question Id : 97675513657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TS U9 BT YEIT 8B 2166 sq cm 8| cu cm H FHBT AT J1d B
Options :
1. ¥ 6859
2. % 5086
3. % 4590
4. % 6211

Question Number : 112 Question Id : 97675513658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the radius of a cylinder is halved, and height is tripled; what is the percentage change in its volume?
Options :

1. % 25 percent increase

2. % 25 percent decrease

3. % 30 percent decrease

4. ¥ 30 percent increase

Question Number : 112 Question Id : 97675513658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Ricier &1 s o s fosan T g, 3R ST &1 diF T[T foa T 8; df 3¥0p SMaa- § Uia=id uRdd- o1 g2
Options :

1. % 25 Ufa=rd gfg

2. ¢ 25 Ufd=Td S

3. % 30 Ufd=rd S

4. % 30 Ufa=d 9fg

Question Number : 113 Question Id : 97675513659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sphere has the same curved surface area as a cone of height 24 cm and base radius 10 cm. Find the radius of the sphere to the nearest cm?
Options :



1.¥ 8cm
2. % 7cm
3. % 6cm
4. % 9cm

Question Number : 113 Question Id : 97675513659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TIidl BT 96 81 & d P o THH ¢ oI $HaTs 24 cm 3R YR 34T 10 em B 1 FHeead om T 1idl &1 w1 31d w2
Options :

1. ¥ 8 cm

2. % 7cm

3. % 6cm

4. % 9 cm

Question Number : 114 Question Id : 97675513660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Study the following table and answer the questions based on it. Figures in the tables are in lakhs.
What is the average amount of salary that the company has had to give during this period?

ITEM OF EXPENDITURE

YEAR caiaay | FEam [ | mmenesr |
TRANSPORT ON LOANS

2011 300 100 3.5 33.4 70
2012 330 112 3.67 32.5 110
2013 340 101 4.12 416 75
2014 56 113 4.23 6.4 B
2015 400 142 4,45 39.8 89

Options :

1. % 355.7 lakhs

2. % 340 lakhs

3. % 345.2 lakhs
4. # 346.5 lakhs



Question Number : 114 Question Id : 97675513660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e difereT &1 Sieag Y 3R ISP SMUR W U & IR & | diferdT & &) 78 TR ARG ST A & 1
4 B 3N I T & S HUT BT 5 (Y b SR St 82

TP A

B e L R
2011 300 100 35 33.4 70
2012 330 112 3.67 325 110
2013 340 101 412 416 75
2014 356 133 4.23 36.4 85
2015 200 142 4,45 39.8 89

Options :

1. % 355779

2. % 340 A4

3.9 3452 119

4. % 346.5 G

Question Number : 115 Question Id : 97675513661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following table shows the number of new employees added to different categories of employees in a company and also the number of

employees from these categories who left the company every year since the year 2014. Study the table and answer the following question:
In which year have the most number of employees left?



YEAR BRANCH MANAGER TECHNICIAN ADMINISTRATORS ACCOUNTANTS
HNew Laft Hew Lsft MNew Laft HNew Laft
2014 (4] 120 A0 100 BAD A5 1160 L]
2018 o] 163 2z 120 o4 mn 499 110
2016 167 WQ F L1 128 153 Fii ] 1315 105
2017 146 B4 136 k] 184 137 60 51
2018 159 T4 1% 100 109 103 83 59
2019 1590 az i 12 Fil | 1ms i ¥
Options :
1. ¥ 2014
2.% 2015
3. % 2016
4. % 2017

Question Number : 115 Question Id : 97675513661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e diferest U Ul H =il @i fafie HTorl & Fged fobT 7Y T SRl B W i il & 3R 37 S0l & Sl
o T &1 i T2l & 81 a8 2014 F ST TV B a8 HU-I BISt ¢ | TP BT 37T B3 3R FHafafad s &1 3w <

g av # gad i HHAR! BTs & T 82

- TTET TE S EERiEa RS HEER
T |sigfm| Tw |skefwm| Tw |sfwm| Tw (SR

214 620 120 A 1D BE0 46 1160 of
2015 290 169 272 120 304 141 4049 110
6 167 a2 240 178 253 raiuk 235 105
2017 146 a4 236 o6 184 137 260 a7
pain g 185 74 Pt h 1] 109 103 813 B
2019 190 a2 F88 112 294 175 27 L]

Options :

1. ¥ 2014

2.¥ 2015

3. %2016



4. % 2017

Question Number : 116 Question Id : 97675513662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following pie-chart shows the sources of funds (in crores) to be collected by NABARD for its Phase III projects. Study the pie-chart and
answers the question that follow. What percent of the total funds come from market borrowings?

Various sources of funds for NABARD

Options :

1. ¥ 50.56 percent
2. % 50 percent

3. ¥ 49.72 percent
4. ® 48.97 percent

Question Number : 116 Question Id : 97675513662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRad UTs-a1c A16TS GRT 31U =ROT 111 URASHISH & foft Tard fort oI aTet oF & ! (BRIs! §) B GRITdT ¢ | UIS-d1C BT T
B 3R I TY BT IR ¢ Sl I S 71 T 8 | T 1 1 a1 wfar=rd aoR 61 S ¥ 3 g2



Options :

1. % 50.56 Ufc=rd
2. % 50 gfard

3. ¢ 49.72 gfa=rd
4. % 4897 Ufdwrd

Question Number : 117 Question Id : 97675513663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of bed-sheets manufactured by a factory during five consecutive months is shown in the following bar graph. In which month is the

manufacturing the highest?

ﬂlm- 14000 15000
Em- r
- 12000
2 10000 9000
T 8000 -
1=
2  so00 4
S 4000
-E 2000 -
= 0
4 5
Month
Options :

1. % 1




2. %2
3.¢¥5
4. % 4

Question Number : 117 Question Id : 97675513663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfIfed IR I & TR UiE Hei1 & R T HRIEM gRT Hid IR & T-A1 <21 T8 g | {59 aeH SdeT a9 3ifie g2

16000 4

— 15000
] 12000
12000
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m |
2000 I

o

1 3 4 5

T &1 Idig

2

Options :
1. %1
2. %2
3.¢¥5
4. % 4

Question Number : 118 Question Id : 97675513664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The number of students in 6 different classes is shown in the following bar graph. Which 2 classes have equal number of students?



MNumber of students
s 5 8 8 8 8 &
~ I -
2. I :
é
8y F

Options :

1. % land?2
2.% 5and 6
3. % 4and 5
4. % 3and 4

Question Number : 118 Question Id : 97675513664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRgferiad IR U | ¢ fAft wen & Sl ot To <21t 78 31 f5e 2 Famsil & o o) T 99 82

80 - T3 73
70 &5
60
E 60 1 55
50 - 45
: S
30
20
10
o -
1 2 3 a 5 5
2o
Options :

1. % 13IR2
2.4 53R 6



3.% 43R5
4. % 3 3R 4

Question Number : 119 Question Id : 97675513665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The histogram for a frequency distribution is given below. Study it and answer the following question. What is the frequency of the class 20-30?

Frequency

0-10 10-20  20-30 30-40  40-50 50-60

Class Intervals

Options :
1. %5
2. %10
3.% 11
4. ¥ 12

Question Number : 119 Question Id : 97675513665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U SRR [AdR0T & foIQ sirrdfers i fear a1 81 39T 31eqa o iR FufeiRad Us &1 IR & | H&iT 20-30 Bl SRR T 82



0-10 10-20 20-30 30-40 40-30 50-80

DT ST

Options :
1. %5
2. %10
3.% 11
4.v 12

Question Number : 120 Question Id : 97675513666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following graph shows scores of 100 players. Study it and answer the following question: What is the average score of most number of
players?

FLE a0
40 -
2 35 -
L F]
3 %
j =%
25
= 20 20
E 20
E 15 10 10
= 10 +
o q}i o
-20 o 20 a0 60 80 100 120
Score
Options :
1. ¥ 50

2. %70



3. %90
4. % 10

Question Number : 120 Question Id : 97675513666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad o 100 AT} & TR Bl <A1 31 STBT 3T B3 3R FYfIRad Uy &1 IR < ey eyl o1 sigd R | g?

4 1 40
40
35
|E 3u B
B 25
20 4
15 o
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5
2
=20 o 20 a0 B0 B0 100 120
R
Options :
1. ¥ 50
2. %70
3. % 90
4. % 10
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Question Number : 121 Question Id : 97675513667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

To keep up with the increasing cyber security threats, / the police are trying to maintain a high level of awareness / regarding the latest cyber
security trends and events.

Options :

1. % To keep up with the increasing cyber security threats,

2. % the police are trying to maintain a high level of awareness
3. % regarding the latest cyber security trends and events.

4. % No Error

Question Number : 121 Question Id : 97675513667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

To keep up with the increasing cyber security threats, / the police are trying to maintain a high level of awareness / regarding the latest cyber
security trends and events.

Options :

1. #* To keep up with the increasing cyber security threats,

2. % the police are trying to maintain a high level of awareness
3. # regarding the latest cyber security trends and events.

4. % No Error

Question Number : 122 Question Id : 97675513668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The court directed the authorities to disclose / criminal cases pending against / the candidate by elsections were held.
Options :

1. # The court directed the authorities to disclose

2. # criminal cases pending against

3. % the candidate who standing for election.

4. ¥ No Error

Question Number : 122 Question Id : 97675513668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Court directed disclosure of / criminal cases pending against / the candidate who standing for election.
Options :

1. # Court directed disclosure of



2. # criminal cases pending against
3. ¥ the candidate who standing for election.
4. % No Error

Question Number : 123 Question Id : 97675513669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

There are limited availability of testing equipment, old / soil testing labs, non-functional equipments, lack of / internet connectivity and physical
assets.

Options :

1. ¢

There are limited availability of testing equipment, old

2. # soil testing labs, non-functional equipments, lack of
3. % internet connectivity and physical assets.

4. ® No Error

Question Number : 123 Question Id : 97675513669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

There are limited availability of testing equipment, old / soil testing labs, non-functional equipments, lack of / internet connectivity and physical
assets.

Options :
1. ¢
There are limited availability of testing equipment, old

2. # soil testing labs, non-functional equipments, lack of
3. % internet connectivity and physical assets.
4. ® No Error



Question Number : 124 Question Id : 97675513670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

TT is a knowledge based research oriented industry / and had been slowly but steadily gaining / ground due to various reasons.
Options :

1. # TT is a knowledge based research oriented industry

2. ¥ and had been slowly but steadily gaining

3. % ground due to various reasons.

4. % No Error

Question Number : 124 Question Id : 97675513670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

TT is a knowledge based research oriented industry / and had been slowly but steadily gaining / ground due to various reasons.
Options :

1. % TT is a knowledge based research oriented industry

2. % and had been slowly but steadily gaining

3. % ground due to various reasons.

4. % No Error

Question Number : 125 Question Id : 97675513671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Within a few years he (become) an international literary celebrity, famous for his humour, satire, and keen observation of character and society.
Options :



1. ®* had became
2. % had become
3. * have become

4. # no correction required

Question Number : 125 Question Id : 97675513671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Within a few years he (become) an international literary celebrity, famous for his humour, satire, and keen observation of character and society.
Options :

1. ® had became

2. % had become

3. # have become

4. # no correction required

Question Number : 126 Question Id : 97675513672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

In 1830, Dickens met his first love, Maria Beadnell, (as thought as) have been the model for the character Dora in David Copperfield. Maria's
parents disapproved of the courtship and ended the relationship by sending her to school in Paris.

Options :

1. # was thought upon as to
2. * thinking as she must

3. ¥ thought to

4. % no correction required

Question Number : 126 Question Id : 97675513672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

In 1830, Dickens met his first love, Maria Beadnell, (as thought as) have been the model for the character Dora in David Copperfield. Maria's
parents disapproved of the courtship and ended the relationship by sending her to school in Paris.

Options :

1. # was thought upon as to
2. # thinking as she must

3. % thought to

4. # no correction required

Question Number : 127 Question Id : 97675513673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The Prince Regent had no surviving children, and the Duke of York had no children; further, both were (divided from there) wives, who were
both past child-bearing age, so the two eldest brothers were unlikely to have any further legitimate children.

Options :

1. # demarcated from their
2. ¥ estranged from their
3. % divided from their

4. # no correction required

Question Number : 127 Question Id : 97675513673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The Prince Regent had no surviving children, and the Duke of York had no children; further, both were (divided from there) wives, who were
both past child-bearing age, so the two eldest brothers were unlikely to have any further legitimate children.



Options :

1. # demarcated from their
2. ¥ estranged from their
3. % divided from their

4. # no correction required

Question Number : 128 Question Id : 97675513674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word which means the same as the group of words given.
A person who arranges meetings of groups or committees.

Options :

1. # announcer
2. * anchor

3. % convener

4. % reporter

Question Number : 128 Question Id : 97675513674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A person who arranges meetings of groups or committees.
Options :

1. # announcer

2. # anchor

3. % convener

4. % reporter

Question Number : 129 Question Id : 97675513675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank with the appropriate word.

The Industrial Revolution labour into mills, factories and mines, thus facilitating the organisation of combinations or trade unions to
help advance the interests of working people.

Options :

1. ¥ concentrated
2. % sought

3. % guzzled

4. % engulfed

Question Number : 129 Question Id : 97675513675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The Industrial Revolution labour into mills, factories and mines, thus facilitating the organisation of combinations or trade unions to
help advance the interests of working people.
Options :

1. ¥ concentrated
2. # sought

3. # guzzled

4. # engulfed

Question Number : 130 Question Id : 97675513676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Although time has passed since the time of regulated child labour, there are still many children working illegally in Brazil.
Options :

1. # slight

2. % diminutive

3. ¢ substantial

4. #® very



Question Number : 130 Question Id : 97675513676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Although time has passed since the time of regulated child labour, there are still many children working illegally in Brazil.
Options :

1. #* slight

2. % diminutive

3. ¥ substantial

4. # very

Question Number : 131 Question Id : 97675513677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

As regards matters of state the reign of Vladislav is marked by a decrease of the royal prerogative, while the power of the nobility attained an
height, at the expense, not only of the royal power, but also of the rights of the townsmen and peasants.

Options :

1. # lacklustre

2. % unprecedented
3. % civil

4. % mediocre

Question Number : 131 Question Id : 97675513677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

As regards matters of state the reign of Vladislav is marked by a decrease of the royal prerogative, while the power of the nobility attained an
height, at the expense, not only of the royal power, but also of the rights of the townsmen and peasants.

Options :



1. #* lacklustre
2. % unprecedented
3. % civil

4. % mediocre

Question Number : 132 Question Id : 97675513678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

One of the earliest such reformers was Robert Owen, known for his efforts in improving conditions for workers at the New Lanark
mills, and often regarded as one of the key thinkers of the early socialist movement.

Options :

1. % perturbing
2. # subtracting
3. % healthy

4. ¥ pioneering

Question Number : 132 Question Id : 97675513678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

One of the earliest such reformers was Robert Owen, known for his efforts in improving conditions for workers at the New Lanark
mills, and often regarded as one of the key thinkers of the early socialist movement.

Options :

1. # perturbing
2. % subtracting
3. # healthy

4. ¥ pioneering

Question Number : 133 Question Id : 97675513679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

He had a attitude toward trying to break the deadlock on the Western Front.
Options :

1. ¥ bellicose

2. # egregious

3. # carouse

4. ® annoying

Question Number : 133 Question Id : 97675513679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

He had a attitude toward trying to break the deadlock on the Western Front.
Options :

1. ¥ bellicose

2. ® egregious

3. % carouse

4. # annoying

Question Number : 134 Question Id : 97675513680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Justin used cunning methods to his twin sister into doing his homework as well as her own.
Options :

1. # triturate

2. % abrade

3. ¥ beguile

4. % disenchant



Question Number : 134 Question Id : 97675513680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Justin used cunning methods to his twin sister into doing his homework as well as her own.
Options :

1. *# triturate

2. * abrade

3. ¥ beguile

4. % disenchant

Question Number : 135 Question Id : 97675513681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

While most of the children said they'd wait, they often struggled to resist and then , eating the treat before the researcher returned.
Options :

1. * give up

2. % gave in

3. * gave down

4. * gave back

Question Number : 135 Question Id : 97675513681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

While most of the children said they'd wait, they often struggled to resist and then , eating the treat before the researcher returned.
Options :

1. # give up



2. ¥ gave in
3. % gave down
4. # gave back

Question Number : 136 Question Id : 97675513682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Quantum computers

P: compared to conventional computers

Q: and searching

R: are extremely powerful

S: when solving certain kinds of problems like finding prime factors of large numbers

large databases.
Options :

1. ¥ SRQP

2. % PQRS

3. ¥ RPSQ

4. % SRPQ

Question Number : 136 Question Id : 97675513682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Quantum computers

P: compared to conventional computers

Q: and searching

R: are extremely powerful

S: when solving certain kinds of problems like finding prime factors of large numbers



large databases.
Options :

1. % SRQP

2. % PQRS

3. ¥ RPSQ

4. % SRPQ

Question Number : 137 Question Id : 97675513683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Sometimes farmers

P: the recommendations. In some cases,

Q: are not able to understand

R: bio-fertilizers are not available at village level at
S: recommended fertilizers and

reasonable prices.
Options :

1. % QRPS

2. % QRSP

3. ¥ PQSR

4. ¥ QPSR

Question Number : 137 Question Id : 97675513683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Sometimes farmers



P: the recommendations. In some cases,

Q: are not able to understand

R: bio-fertilizers are not available at village level at
S: recommended fertilizers and

reasonable prices.
Options :

1. % QRPS

2. % QRSP

3. ¥ PQSR

4. ¥ QPSR

Question Number : 138 Question Id : 97675513684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Genome India

P: new gold standard of

Q: ushering India towards the

R: scientific technology for the advancement of Indian healthcare,
S: project embraces

Precision medicine.
Options :

1. ¥ QSRP

2. % SQRP

3. % PQRS

4. ¥ SRQP

Question Number : 138 Question Id : 97675513684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Genome India

P: new gold standard of

Q: ushering India towards the

R: scientific technology for the advancement of Indian healthcare,
S: project embraces

Precision medicine.
Options :

1. # QSRP

2. % SQRP

3. % PQRS

4. ¥ SRQP

Question Number : 139 Question Id : 97675513685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some sentences of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these
parts can be rearranged to form a meaningful and grammatically correct passage.

A genome is the entire DNA, or sequence of genes, in a cell.

P: The way these base pairs are arranged can provide clues about the individual's health or ill health, inherited or acquired.
Q: Sequencing a genome means deciphering the exact order of base pairs in an individual.

R: This genome is divided into chromosomes, chromosomes contain genes, and genes are made of DNA.

S: Each genome has approximately 3.2 billion DNA base pairs.

The variations and mutations in the patterns of these base pairs also give the researchers more information on similar subjects.
Options :

1. ®* PQRS

2. * SQRP

3. ¥ RSQP



4. % SQPR

Question Number : 139 Question Id : 97675513685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some sentences of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these
parts can be rearranged to form a meaningful and grammatically correct passage.

A genome is the entire DNA, or sequence of genes, in a cell.

P: The way these base pairs are arranged can provide clues about the individual's health or ill health, inherited or acquired.
Q: Sequencing a genome means deciphering the exact order of base pairs in an individual.

R: This genome is divided into chromosomes, chromosomes contain genes, and genes are made of DNA.

S: Each genome has approximately 3.2 billion DNA base pairs.

The variations and mutations in the patterns of these base pairs also give the researchers more information on similar subjects.
Options :

1. # PQRS

2. % SQRP

3. ¥ RSQP

4. % SQPR

Question Number : 140 Question Id : 97675513686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

OMNIPOTENT
Options :

1. # POTENT

2. ¥ POWERLESS
3. % PUISSANT
4. % CONTENT



Question Number : 140 Question Id : 97675513686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word that is the opposite meaning (ANTONYM) to the word given below.

OMNIPOTENT
Options :

1. * POTENT

2. ¥ POWERLESS
3. # PUISSANT
4. % CONTENT
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Question Number : 141 Question Id : 97675513687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

CAJOLE

Options :

1. ¥ PERSUADE

2. % DISENCHANT
3. * BULLY

4. % DISSUADE

Question Number : 141 Question Id : 97675513687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

CAJOLE

Options :

1. ¥ PERSUADE

2. % DISENCHANT
3. % BULLY

4. % DISSUADE

Question Number : 142 Question Id : 97675513688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.



FAUX

Options :

1. % GENUINE

2. ¥ SIMULATED
3. % BLANDISH
4. ¥ PALPAABLE

Question Number : 142 Question Id : 97675513688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

FAUX

Options :

1. % GENUINE

2. % SIMULATED
3. ¥ BLANDISH
4. % PALPAABLE

Question Number : 143 Question Id : 97675513689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

OSTENSIBLE
Options :

1. #* PROFESSED

2. % ALLEGED

3. ¥ HONOURABLE
4. ¥ VAGUE

Question Number : 143 Question Id : 97675513689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

OSTENSIBLE
Options :

1. # PROFESSED

2. % ALLEGED

3. ¥ HONOURABLE
4. ¥ VAGUE

Question Number : 144 Question Id : 97675513690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ ENTUTION

2. % INTIUTION

3. % INTUITION

4. % INTUTION

Question Number : 144 Question Id : 97675513690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % ENTUTION

2. % INTIUTION

3. ¥ INTUITION

4. % INTUTION

Question Number : 145 Question Id : 97675513691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. * EXASERBATE

2. ¥ EXACERBATE

3. ¥ EXACERBRATE

4. % EXASERBRATE

Question Number : 145 Question Id : 97675513691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ EXASERBATE

2. ¥ EXACERBATE

3. ¥ EXACERBRATE

4. ¥ EXASERBRATE

Question Number : 146 Question Id : 97675513692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ MULTIFARUS

2. % MULTIFACIOUS

3. ¥ MULTIFACIUS

4. ¥ MULTIFARIOUS

Question Number : 146 Question Id : 97675513692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ MULTIFARUS

2. ¥ MULTIFACIOUS

3. ¥ MULTIFACIUS

4. ¥ MULTIFARIOUS

Question Number : 147 Question Id : 97675513693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ PREPONDERANCE

2. % PRESPONDERANCE

3. ¥ PREPONDERENCE

4. % PRESPONDERENCE

Question Number : 147 Question Id : 97675513693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ PREPONDERANCE

2. % PRESPONDERANCE

3. ¥ PREPONDERENCE

4. % PRESPONDERENCE

Question Number : 148 Question Id : 97675513694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.



"We'll cross that bridge when we come to it".
Options :

1. # There is no end to the problems in life.

2. ¥ Let's not talk about that problem right now.
3. ® The source of peace is denial.

4. ® The path taken in life should be chosen very carefully.

Question Number : 148 Question Id : 97675513694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

"We'll cross that bridge when we come to it".
Options :

1. #® There is no end to the problems in life.

2. ¥ Let's not talk about that problem right now.
3. # The source of peace is denial.

4. ® The path taken in life should be chosen very carefully.

Question Number : 149 Question Id : 97675513695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

"Takes two to tango".

Options :

1. # A friend always stays close to the heart.

2. % One always needs a partner in life.

3. ¥ Most deeds/actions/misdeeds require participation from two people.

4. ®# A man without a woman is worthless.

Question Number : 149 Question Id : 97675513695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

"Takes two to tango".

Options :

1. #® A friend always stays close to the heart.

2. % One always needs a partner in life.

3. ¥ Most deeds/actions/misdeeds require participation from two people.

4. % A man without a woman is worthless.

Question Number : 150 Question Id : 97675513696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"Bite off more than you can chew".

Options :

1. ¥ Try to take on a task too big for oneself.
2. # Take a very big bite that can choke.

3. % Talking more than you should.

4. # Showing disrespect.

Question Number : 150 Question Id : 97675513696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"Bite off more than you can chew".

Options :

1. ¥ Try to take on a task too big for oneself.
2. # Take a very big bite that can choke.

3. # Talking more than you should.

4. % Showing disrespect.



Question Number : 151 Question Id : 97675513697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"Take it with a grain of salt".

Options :

1. # Doing adventurous things that add taste to life.
2. # Adding finishing touch to the task.

3. % Accepting something that you don't like.

4. ¥ View something with skepticism

Question Number : 151 Question Id : 97675513697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"Take it with a grain of salt".

Options :

1. # Doing adventurous things that add taste to life.
2. % Adding finishing touch to the task.

3. #® Accepting something that you don't like.

4. ¥ View something with skepticism

Question Number : 152 Question Id : 97675513698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the phrase/expression/group of words given below.

"a system in which a country rules other countries, sometimes having used force to get power over them"
Options :
1. ¥ NAZISM



2. # ARCHAISM
3. ¥ IMPERIALISM
4. % HISTRIONICISM

Question Number : 152 Question Id : 97675513698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the phrase/expression/group of words given below.

"a system in which a country rules other countries, sometimes having used force to get power over them"
Options :

1. ¥ NAZISM

2. % ARCHAISM

3. ¥ IMPERIALISM

4. % HISTRIONICISM

Question Number : 153 Question Id : 97675513699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the phrase/expression/group of words given below.

"public embarrassment"
Options :

1. ¥ OBSCURE

2. ¥ IGNOMINY

3. ¥ GARRISON

4. ¥ RETALIATE

Question Number : 153 Question Id : 97675513699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the phrase/expression/group of words given below.



"public embarrassment"
Options :

1. ¥ OBSCURE

2. ¥ IGNOMINY

3. ¥ GARRISON

4. ¥ RETALIATE

Question Number : 154 Question Id : 97675513700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the phrase/expression/group of words given below.

"Expecting unquestioning obedience".
Options :

1. ¥ IMPERIOUS

2. # IMPEDITIVE

3. % IMPEARL

4. ¥ IMPENDENCE

Question Number : 154 Question Id : 97675513700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the phrase/expression/group of words given below.

"Expecting unquestioning obedience".
Options :

1. ¥ IMPERIOUS

2. % IMPEDITIVE

3. ¥ IMPEARL

4. % IMPENDENCE

Question Number : 155 Question Id : 97675513701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the phrase/expression/group of words given below.

"Music played very loud".
Options :

1. % BASS

2. # REVERBERATION
3. % FORTISSIMO

4. ¥ FADDISM

Question Number : 155 Question Id : 97675513701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the phrase/expression/group of words given below.

"Music played very loud".
Options :

1. % BASS

2. # REVERBERATION
3. % FORTISSIMO

4. * FADDISM

Sub-Section Number : 2
Sub-Section Id : 976755942
Question Shuffling Allowed : Yes

Question Id : 97675513702 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Napoleon was a master of propaganda and popular manipulator. He knew how important the people’s opinion was, and used his rhetorical power
to shape it for his purposes. Personally, he was a man of simple tastes, preferring to wear a military uniform. Yet he knew the people wanted a
show, so he wore extravagant outfits and lived in fancy palaces. He was willing to use religion for his purposes — portraying himself as a Muslim



to the Egyptian Muslim, as an atheist to the French revolutionaries, and as a Catholic to the European Catholics. Personally caring little about
religion, he used it to appeal to whatever people group he needed.

Napoleon was also very involved with the French press. The newspapers were under tight control, and if they published anything with which the
emperor did not agree, they would be shut down. He was very cognizant of how the papers shaped public opinion, and would often write

columns for the newspapers to make sure they espoused exactly his views. In those columns he was far from honest. Bonaparte exaggerated
whenever he thought necessary, inflating his victories and covering up his defeats. When he ran for control of France in popular elections, he won
in landslides. Yet he, and doubtless countless Bonapartists under him, still felt it necessary to fake the election results, making them even more
favourable than they actually were.

Sub questions

Question Number : 156 Question Id : 97675513703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What was of most importance to Napoleon ?
Options :

1. * His manipulation technique.

2. % People's opinion.

3. * His horse.

4. % The idea of revolution.

Question Number : 157 Question Id : 97675513704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What did Napoleon keep under his tight control?
Options :

1. # His troops.

2. % His light infantry.

3. ¥ The newspapers.

4. % The members of the court.

Question Number : 158 Question Id : 97675513705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
He preferred to wear extravagant outfits and live in fancy palaces.' How does this help Napoleon ?



Options :

1. #® By buying the people who did not take his side.

2. ¥ By creating mental and social dominance upon people around him.

3. # He had lack of self esteem, wearing good clothes made him feel good about himself.

4. ® In those times it was important that leaders or rulers lived in fancy palaces. They were not given a place amongst the common people.

Question Number : 159 Question Id : 97675513706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of the passage what is the meaning of the word espouse ?
Options :

1. # Different from the real .

2. % Exaggerating or misleading.

3. # Having full faith on someone without any doubt.

4. ¥ Involved with or support an activity or opinion.

Question Number : 160 Question Id : 97675513707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of the above passage what amongst the following is not a quality shown by Napoleon ?
Options :

1. # Convincing Propaganda.

2. ¥ As Straight as a die.

3. # Efficient Organizer.

4. % Popular Charisma.

Question Id : 97675513702 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Napoleon was a master of propaganda and popular manipulation. He knew how important the people’s opinion was, and used his rhetorical



power to shape it for his purposes. Personally, he was a man of simple tastes, preferring to wear a military uniform. Yet he knew the people
wanted a show, so he wore extravagant outfits and lived in fancy palaces. He was willing to use religion for his purposes — portraying himself as
a Muslim to the Egyptian Muslim, as an atheist to the French revolutionaries, and as a Catholic to the European Catholics. Personally caring little
about religion, he used it to appeal to whatever people group he needed.

Napoleon was also very involved with the French press. The newspapers were under tight control, and if they published anything with which the
emperor did not agree, they would be shut down. He was very cognizant of how the papers shaped public opinion, and would often write
columns for the newspapers to make sure they espoused exactly his views. In those columns he was far from honest. Bonaparte exaggerated
whenever he thought necessary, inflating his victories and covering up his defeats. When he ran for control of France in popular elections, he won
in landslides. Yet he, and doubtless countless Bonapartists under him, still felt it necessary to fake the election results, making them even more
favourable than they actually were.

Sub questions

Question Number : 156 Question Id : 97675513703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What was of most importance to Napoleon ?
Options :

1. # His manipulation technique.

2. ¥ People's opinion.

3. # His horse.

4. % The idea of revolution.

Question Number : 157 Question Id : 97675513704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What did Napoleon keep under his tight control?
Options :

1. # His troops.

2. % His light infantry.

3. % The newspapers.

4. % The members of the court.

Question Number : 158 Question Id : 97675513705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



He preferred to wear extravagant outfits and live in fancy palaces.' How does this help Napoleon ?
Options :

1. # By buying the people who did not take his side.

2. ¥ By creating mental and social dominance upon people around him.

3. ® He had lack of self esteem, wearing good clothes made him feel good about himself.

4. ® In those times it was important that leaders or rulers lived in fancy palaces. They were not given a place amongst the common people.

Question Number : 159 Question Id : 97675513706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of the passage what is the meaning of the word espouse ?
Options :

1. ® Different from the real .

2. % Exaggerating or misleading.

3. # Having full faith on someone without any doubt.

4. ¢ Involved with or support an activity or opinion.

Question Number : 160 Question Id : 97675513707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of the above passage what amongst the following is not a quality shown by Napoleon ?
Options :

1. ® Convincing Propaganda.

2. ¥ As Straight as a die.

3. # Efficient Organizer.

4. ® Popular Charisma.
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Question Number : 161 Question Id : 97675513708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy 9, IR fosddl T 9, 39 fdded &1 9g= H ol faU U gl 9 fawse o1 99 &1 9gt fdsed 31|
PRI+ AT

Options :

1. ¥ DR

2. % DR

3. % HRMEA

4. % HYgNd




Question Number : 161 Question Id : 97675513708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad Uy #, IR fadedl # 9, 39 fddb ey &1 9g D ol iU 7T Ie! 4fY fawse o1 4fY &1 Ie! fdhed gl
DR+ AT

Options :

1. ¥ DR

2. % DRANA

3. ¥ HRM™HA

4. % pYgl-d

Question Number : 162 Question Id : 97675513709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeRad us H, IR fasedl | 9, 39 fdched &1 =g B Sl {dU 7T Weg & T WY fdwsa &1 fdbed 511

Options :

1. % =ROM+Hd
2. ¥ TIROT + AHHJ
3. % TRO+ 3o
4, ® TRUT+H{d

Question Number : 162 Question Id : 97675513709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed gy o, IR faswedl & 9, 39 [9aed &1 99+ &< off faU T4 Xeg & 5t A% fawdg &1 fadbed 81|
<RUMHd

Options :

1. * =RUM+ Hd
2. ¢ RO+ HHJ
3. % TRO+ 3T1od



4. % RO+

Question Number : 163 Question Id : 97675513710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafed uy o, IR fawedl # 9, 39 fdded &1 99 3 ot faT 1T Xeg & for gt YR 09 & faug &1 fawey gl
SHYHT

Options :

1. % 3TYUT PpT HII

2. % YT AR W

3. % SYTY T

4. YT AR

Question Number : 163 Question Id : 97675513710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad uy & IR fawedl § T, 3T faswey &1 w9 &3 oY AT U Wsg & forw 8t pHeRu gAY & faurg &1 faseu gl
HYHT

Options :

1. % JHIYT DT HIA

2. % 3TYT 3R T

3. % STYTY T

4. YT G SN TR

Question Number : 164 Question Id : 97675513711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed vy o, 9R fadmed! § 9, 39 faded &1 997 ¥ Sl SUTH 8 &1 ek H1 g fabed 71|
Options :

1. ® Hclab s

2. % dodl




3. % fOT
4. ¢ AR

Question Number : 164 Question Id : 97675513711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofeifad uy §, IR dwedl 7 9, 39 fawed &1 907 &< S ST T 99 Ueg BT ot [dbed gl

Options :

1. % Ycldbs
2. % dadl

3. % foAM
4. ¢ R

Question Number : 165 Question Id : 97675513712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad v, IR fawedl § T, 39 f9oed &1 994 &3 ol U0 ¥ 99 e, &1 Jg! fabed gl
Options :

1. % 343

2. % gIN}

3. ¢ gdd

4. % OO

Question Number : 165 Question Id : 97675513712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy &, IR fadedl § 9, 39 fadhed &1 78 &< ot U I &4 Wsd b1 Hol fddbed 3|
Options :

1. % 343

2. #® gt

3.¢ g4d




4, % U

Question Number : 166 Question Id : 97675513713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

E@r@au&rﬁ,mﬁw@fﬁﬁ,wf&wwmqw P SN feU 71T WMo T TqH FU B

Options :
1. = ¥
2. % 3y
3.9 3{Hd
4. % 3y

Question Number : 166 Question Id : 97675513713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eﬁr@au&rﬁ,aﬁmﬁ@r,wfwwmwﬂ & ol 4T 71U e T TqH U Bl |

Options :
1. % 3H
2. % 3%
3. ¢ 3HHd
4. % 3fY

Question Number : 167 Question Id : 97675513714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e v &, TR fadedl 7 9, 39 faebeq o1 =g &Y Sl 4T 1Y Weg 1 dogd T
i
Options :

1. % gid




2.« S8l
3. % ggl
4. % d

Question Number : 167 Question Id : 97675513714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafofed gy &, IR fawedl o 9, 39 faswed o1 9o 3 S U T st 1 dad FU &l
QS

Options :

1. % gid

2. ¢ 83l

3. % qgl

4. % Q@

Question Number : 168 Question Id : 97675513715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR fow el § 9, 39 fahcd o1 I8 &Y Ol SXIol Ueg b1 et f[dbed gl
Options :

1. ¢ Wi

2. % TRHT

3. % IR

4. % dlarR

Question Number : 168 Question Id : 97675513715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR fowmeal 7 9, 39 faweu &1 97 &% St SISl Usg BT ot f[dbeu gl
Options :

1. ¢ Yip




2. % AT
3. % RN
4. % digR

Question Number : 169 Question Id : 97675513716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%M%r@au&rﬁ,mﬁﬁﬁ@r,wiaqwmqw B3 o foT 77T Treg & vufgardt Wee o1 I8! faswey T8t 2l

Options :

1. % 3HHO[
2. % Hed
3./ 78

4. % YO

Question Number : 169 Question Id : 97675513716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁaﬁr@au&rﬁ,wﬁwﬁﬁ@r,wfaqwmqw B ol feTU 77T Treg & vafgar Wec o1 I8! fawey T8t 81

Options :

1. % 3THU
2. % Hsd
3.V 118

4. % YO

Question Number : 170 Question Id : 97675513717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eeal 7 9, 39 fahca &1 987 & ot fadiH Wsg &1 a9 331 faheu g |



&ff0rch
Options :

1. % THR
2.9 XYd
3. % fny
4. % U

Question Number : 170 Question Id : 97675513717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & 3, 39 9wy &1 T B oY {3 e T a9 33T fAped g |
RIUED

Options :
1. % R
2.9 RYd
3. % fNy
4. % UM

Question Number : 171 Question Id : 97675513718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffed Uy &, 9R fawed! § 9, 39 Ue! fawed &1 997 $X Sl =il & ol U Xeg &1 fadhed gl
ERERISEERIEE]

Options :

1. % 3o

2. % 3Ylg

3. % IR

4. ¢ 3fiba

Question Number : 171 Question Id : 97675513718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFafafad vy ¥, IR fawedl § T, 39 I8! faded o1 I H3 Sl il & ol U e o1 fadhed B
forae T gz A

Options :

1. % 3T
2. % 3Ylg
3. % YR
4. ¢ 3ffda

Question Number : 172 Question Id : 97675513719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofied vy &, 9R fawed! § 9, 39 Ue! faded &1 997 B Sl U T4 Xeg & Ta! 31 &1 Id fadwed gl
Pyl

Options :

1. ¢ &

2. % dCR

3. % Ul

4. % puyl

Question Number : 172 Question Id : 97675513719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferied Uy , IR fadedl 7 9, 39 Ig! fdohed o1 70 &3 off U U W & gt 312 o1 Iferd fdved gl
Pyl

Options :

1. ¢ &od

2. % hcR

3. % Ul

4. % puyl




Question Number : 173 Question Id : 97675513720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 8§, TR fowedl § 9, 39 98! fawed &1 79+ 3 ot Rad R & o Iuged Uss &1 Ual faweu g |
3T ol 3R BRI Ry A ulig g

Options :
1. * W
2. % 3R
3. ¥ & BRI
4, % DI

Question Number : 173 Question Id : 97675513720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed Uy &, IR fawedl § 9, 39 el famed &1 99+ & S Rad RIF & o Iugad e &1 el [dhed g |
3 gre=aT 3R HRIRY TR Ay T uRE g

Options :
1. % W
2. % 3R
3. ¥ & BRU
4, % D]

Question Number : 174 Question Id : 97675513721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad us o, TR fawet § 9, 39 fawey &1 7o &L Sl Y Ueg &1 Ga! fadwea 71
Options :

1. % gl

2. ¥ dI¥Jhall

3. % d¥chcll




4. % IRIPIA

Question Number : 174 Question Id : 97675513721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad us o, TR fawent § 9, 39 fawey &1 7o &L Sl Y e &1 Ta! fadwea 7
Options :

1. % qraddhcll

2. ¥ dIR¥Jhall

3. ¥ dRJPp Il

4. % dRJHIc]

Question Number : 175 Question Id : 97675513722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy 5, IR fawedl & 9, 39 f[ddhed &1 999 o Il YG Xeg & ol f[ddhed |
Options :

1. ¢ 3Tt

2. % GITell

3. % Sl

4. % HIIfey

Question Number : 175 Question Id : 97675513722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 fawed &1 999 &3 o Y Vs &1 Ta! [dbed 7
Options :

1. ¢ 3T

2. % S

3. % STt

4. % el




Question Number : 176 Question Id : 97675513723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reeal 7 9, 39 fowca o1 97 &% &Y feu 7T Weg & JAMIT Weg &1 fapey 81 B
g0 -

Options :

1. % HYI

2. % 3d

3. % foe

4. AR

Question Number : 176 Question Id : 97675513723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed vy o, 9R fawed! § 9, 39 fawed &1 997 & Sl U 7T Xeg & FHHIT 2reg; o1 fadbed 81 5
3 -

Options :

1. % HY[

2. % 3{d

3. % foe

4. A

Question Number : 177 Question Id : 97675513724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & 9, 39 98! fadwed &1 7= &3 off 4T 7T Weg-g & 31 &1 et fadhed |
e 31R TR

Options :

1. ¢ g iR A

2. % Jauig 3R Rig




3. % g 3R Javlg
4. % TER IR Rig

Question Number : 177 Question Id : 97675513724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad we o, oR fadwenl O 9, 39 9g! [ddwed &1 99 &< ol [GT U Weg-FH o 31 &1 Ag| [adwed 71|
R 3R &R
Options :

1. ¢ g 3R HhHm 7
2. % gavig 3R Rig
3. % g 3R 9ol
4. % TR IR R

Question Number : 178 Question Id : 97675513725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fawedl & 9, 39 fawed &1 999 &3 ©ll Yed gfca =4 aren fawea 3|

Options :
1. % XAl
2. % dId
3. ¢ IO
4. % gdH

Question Number : 178 Question Id : 97675513725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad oy o, aR fowedl & 9, 39 faswed &1 999 &1 ©ll Yed gfca =4 aren fdwe 5|

Options :
1. % Xd]



2. % §Td
3.« IO
4, % gdH

Question Number : 179 Question Id : 97675513726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad ve o, TR faweul # 9, 39 fadhed &1 997 B Sl Yo d 9gad- U & 9o 33T fadhed 5|

Options :
1. # AHUh
2. ¥ AR
3. % Wil
4. % O

Question Number : 179 Question Id : 97675513726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad uy o, aR fowedl & T, 39 faswey &1 999 &3 ©l Yed 9gadd U &1 Jad 331 fahed g1

Options :
1. # AHUDh
2. ¥ HHNR
3. % Wil
4. % O

Question Number : 180 Question Id : 97675513727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@ﬁt{%ﬁ,ﬁﬁﬁﬂﬁ@r,wﬁdwmdw B S HIFD | [T T g & AR 3= T3 I Fa-1H BT Fad 35T [ddhed
|




Options :

1. ¢ (39) HiYY, 3T TR S|

2. % (3T 3d dPb T I ol WM
3. % (8H) 3(d gl 781 76 Jhd &

4. % (1) TRT RgQHT Ay |

Question Number : 180 Question Id : 97675513727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WH%ﬁ,WﬁWﬁ@,WBd)NWﬂQ# B Ol HIFH A ST T et & AR 3= T3 T 11 P Tay 33T fadhey
|

Options :

1. ¥ (3T9) HigY, 3T TR S|

2. % (31O 319 d W1 | g G

3. % (8H) 3(d gl 181 76 Jhd &

4. % () TR RIS amag |
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Question Number : 181 Question Id : 97675513728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefed gy o, IR fawedl 7 9, 39 faswed &1 997 & Sl QU 7TU 9190 & &1d &1 ol [ddhed 8l
S fhde ugdr g

Options :

1. % YHTH JaaHDId

2. % dIHICIP qaqHHId

3.« gAY IdHPTA
4. % 3T YabTd

Question Number : 181 Question Id : 97675513728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoiad Uy &, aR fowedl ° 4, 39 fased &1 99 &< SN QU T4 916 o H1d &1 Tal fadbed 8l |
ST fpare ugar g

Options :

1. % YT qaHHDIA

2. ® TIPS gaqHSTd

3.« g IdHPTA




4. % 3TH YdBIA

Question Number : 182 Question Id : 97675513729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue o, TR fawent § 9, 39 fawed &1 7o &L S fou 18 argy & e gfa & e &1 Te o1 fased g |
GHT § 315 IRT 1 &

Options :

1. % Jhard

2. % Fegrd

3.« FuraTd

4. % fgery

Question Number : 182 Question Id : 97675513729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 fawey &1 999 &2 Sl foU T8 arag & fore gy & v &1 9ad o1 fdsed ]
YYT B 3 AR 1 I BT

Options :

1. % Jhard
2. % Tegrd
3. « JuTgTTd
4. % gy

Question Number : 183 Question Id : 97675513730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad uy 7, IR e & T, 39 9w ey o1 T B O feU 77T 919 & ol Uet & U o1 Il 331 f[aheu 5|
g {7 I Uad e YT T 31T Johet g
Options :

1. % grduEiYys




2. % fAgdeds
3. % TEIfA=de
4. ¢ AAD

Question Number : 183 Question Id : 97675513730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & T, 39 f9hed &1 T B &l feU 77T 9199 & ol Uel & U o Jad 331 f[aheu 5|
g & Id T R U1 AT ool 9o d ga!
Options :

1. % grageiysd
2. % gdrds
3. % TRTfqeNde®

4. ¥ AAD

Question Number : 184 Question Id : 97675513731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad Uy o, IR fadedl § 9, I fddbed BT 78 &< ol Fg! d1e HG &1 f[ddbed gl
o ST § o TR 1 U9 TR &

Options :

1. ¢ g ar

2. % ggad I

3. % (YyarE® a1

4, % I 91

Question Number : 184 Question Id : 97675513731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRafead vy H, TR fadedl # 9, 39 fadhed &1 99+ &3 Sl T8l a1 He B fadbed 81|
o ST g b TR U O 181 ¢



Options :

1. ¢ Oy |

2. % Igod aIR

3. % FYYyaE® g
4. % TR IqIH

Question Number : 185 Question Id : 97675513732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol gy o, IR faded! # 9, 39 [ddey &1 98- &< ol el aled e B fadbed gl
3Tl ) 9§ P § SO & g 1y et 9 FapaT|

Options :

1. ¢ Agad a1

2. % gy ar

3. % Hdgdrdd dre

4. % I I

Question Number : 185 Question Id : 97675513732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafed gy o, IR fawed! # 9, 39 [daey &1 997 &< ol gl a1 He $ fadbed gl
3Tl ) 9§ T § SUferT & greR 1y et 9 FaT|

Options :

1. ¢ Tgad qIrd

2. % Ay IR

3. % Hdgardd dre

4. % I 91

Question Number : 186 Question Id : 97675513733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFafcRed Uy |, IR fadweul 7 ¥, 39 fdwed &1 999 &3 o1l el d1ad He &l f[ddbed gl
AT A @ g9

Options :

1. # YYAdide die
2. % A dIH

3. % foy are

4. % Hgad AT

Question Number : 186 Question Id : 97675513733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy |, IR Al A 9, 39 fdwed &1 999 B3 I ol 9180 He &1 f[ddbed gl
ATATS A @ g9

Options :

1. % UHAdIdD di]
2. % IR AR

3. % fay are

4. % IgId a1

Question Number : 187 Question Id : 97675513734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue §, TR fawet § 9, 39 fawey &1 70 &L Sl Y 91 T Ja 3737 fadheu 3|
Options :

1. ¢ ST 3 ARG &1 e 94 foran

2. % o A AR T hger 74 foran

3. % S A AR BT B A o)

4. % I 3 ARG &7 g ol femm

Question Number : 187 Question Id : 97675513734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl § 9, 39 fawed &1 999 &3 o Y a1 1 Tad 33T fadhed g |
Options :

o

1. ¢ ST A ANTRS] BT S /14 fordn
2. % o A ARRST & e /14 foran
3. % ST A ARG BT B A |

4. % ST A AATRDY BT Sger fofg fern)

Question Number : 188 Question Id : 97675513735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 4, aR fawed! & 4, 39 fdewed &1 99+ o il fav1 g god ot &1 dal fadbeu gl
Options :

1. ¢ T GHUDT T3 3R TR H e, "o ¥ TH! 71 T 39 AR

2. % T GHYD] T3 3R TR H el i ¥ 0 T G I AR

3. % O GHUD] T 3R T8 T Sell - o Y I 1 G S AR |

4. % T QHUBT TS, 3R T H dreht, 71 ¥ IH, 1 I AR

Question Number : 188 Question Id : 97675513735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy &, IR fadbedl # 9, 39 fadbed &1 98 D ol favH g ot a1’y &7 Hal [dehed Bl
Options :

1. T GHUBT 718 3R 7Y | areh, "ol ¥ ITH! -7 I 3 TR

2. % T GHUHT T8 3R T8 H Sl i X 0 T I S ART?

3. % T qHYST T8 SR TR & Sl - 1 X IH &7 < S8 ART |

4. % T GHUDT TS, 3R T T e, FT X IH, T I I AR

Question Number : 189 Question Id : 97675513736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad Uy 4, aR fased! & 4, 39 fdeed &1 99 &< Sl faR1 fIg god a1 &1 Hal fadbeu gl
Options :

1. % YR AR A BT 9T H 38 & HRUI HIU QT §

2. % YR AR Bl 9el & 8 & HRU 1Y T §|

3. ¢ T R AR A $gl, "9l H 38 & HRUI BIU BT 7"

4. % TY R AR A H@I- 9T H 68 & HRUI DI |

Question Number : 189 Question Id : 97675513736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfead us #, IR fadedl | 9, 39 fdhed &1 9g o Sl faR1H g ot aTer 1 Hgt fdsbed 311
Options :

1. % YR AIRI 7 HET 9T H 68 & HRU B W5

2. % TY R AR A H8T 9T H 38 & HRUT B4 BT 5

3. ¢ TR AMNRY A Fal, 'Sl § 8 & BRI BT T §"

4, % TY R AR} 3 HEl- ST 7 38 & HRUI HU W F |

Question Number : 190 Question Id : 97675513737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fraferae o &, TR faded! # 9, 34 fab ey o1 =g oY St U ¢ ceplfert 1wt ol arer faded 81
SEHENEREICE

Options :

1. % B DI T HRAT

2. ¥ 33TE & Y RS M At 8

3. % GORM Fdd gl

4. % Y M

Question Number : 190 Question Id : 97675513737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



FrafaRad ge ¥, IR faded! # 9, 39 faced o1 977 33 St U 1T diifet o1 et 3ref arer fawed 31
SHEGEREICE

Options :

1. % Hoeul Bl T HIAT

2. ¢ IBTe & A RS W BT §

3. % gUIM gdd el

4, % 3ROV BT

Question Number : 191 Question Id : 97675513738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR faweul § 9, 39 fadhed &1 7o 3 S fou TU dipifad &1 wgl o arar fasweu 3|
SiTdlt et Tg ATt et -

Options :

1. % P Jehx Ut I3 gfd 781 H=Al

2. ¥ S §1d Ted B a1 [T STl

3. % Y & oTerd § 7Tad B1F HRA]

4. % 9 19 9 81 39 e firean 8

Question Number : 191 Question Id : 97675513738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiad uy & IR foeeal ° T, 39 ey &1 Ta &1 oY feu U Aipifad o1 gt o aran fodeu g |
St el Tg1 et STt -

Options :

1. % HY Fgep i Ie ey g el et

2.« A g1 TTeid H1H el fbar Sl
3. % Y & oTerd § TTad B1F Bl

4. % 1 o a1 8 39 I8 aar g

Question Number : 192 Question Id : 97675513739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFofiad uy & IR foeeal ° T, 39 ey &1 Tg &1 &t feu 7Y Aipifad o1 gt o aran faseu g |
S TS W@ 9 o fean-

Options :

1. % 3O 9 ¥ g el

2. % AT H g I8 TT8R T &l

3. % RS BT g f Yag v al

4. ¢ T4 UM 9T &) HY Ge 81 UsSdl &

Question Number : 192 Question Id : 97675513739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafaRad vy 5, IR fawedl & 9, 39 fdded &1 90+ o A [4T U diifad o1 Tat o aran fawed 5|
S 7S @Y & & far

Options :

1. % 3O grd O dgahR el

2. % ST A H g 98 JT8R 3T g

3. % RT3 BT ggal H HaE Al

4. ¢ Y UF I1A HI B Te1 81 IS 8

Question Number : 193 Question Id : 97675513740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy &, IR fawedl § 9, 39 faded &1 989 &3 ol &1 715 GeTaX &1 Ja! 3 a1 fadwe g
REICIRICRREIGEIE

Options :

1. ¢ &dHQa’ﬁ&lld-‘iqwdlﬁqsdH"ll

2. % WIYRU I

3. % [T BT & 9 &I

4, ® g HRAT




Question Number : 193 Question Id : 97675513740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Proffad uy ¥, TR eedl § 3, 39 [Gbey o1 997 B3 o) &t 7S YoraX &1 et 31 arell faehed 2|

gdl b ¥Y UgdI-T -
Options :

1. ¢ AR P AGRAH T DI T
2. % YR AN

3. % foT s & 9% &

4. % O AT

Question Number : 194 Question Id : 97675513741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawedl § 9, 39 fadhed &1 9a9 &3 ol &1 718 JeTaX &1 Ja! o ara fadwed g
T &1 iU faam T -

Options :

1. #® cHI

2. % YRS

3. ¥ 3fcdd URIG SAfad &1 uiad ¢

4. % ggefiaar g4 g

Question Number : 194 Question Id : 97675513741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad vy o, TR fawel § 9, 39 fadhey &1 7= B S €t 718 HaTdk &1 Wet 3 arer fased g |
T &1 §ue faam T -

Options :

1. #® |cHI

2. % YA ST




3. « 3d URYg safad &1 ufaa &
4. % gg-Iiiadl GHI T

Question Number : 195 Question Id : 97675513742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofad oy & ar fawed § 9, 39 fadmed &1 789 & ot &t 718 GeTaX &1 Ja! 3 ara fadwe ]
RR WY BT -

Options :

1. % HRITHEAT

2. ¢ GERI G

3. % TG HIY T
4. % U TSI

Question Number : 195 Question Id : 97675513742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad we o, oR fowenl # 9, 39 fadhed &1 707 B Sl < 718 GgTaR &1 e 3 g fdsed g |
RR R By 81 -

Options :

1. % 3T HEAT

2. ¢ GERI BT

3. % g GHIG 3T

4. % U TSI

Sub-Section Number : 2

Sub-Section Id : 976755945
Question Shuffling Allowed : Yes

Question Id : 97675513743 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)



=it faU T TreriR o W16 5 Uy faT T § 1 59 TR bl Aydeh UG 3R IR fdebedl H ¥ U U bl HalH IR I |

TS AIhdiEd JHTS Wardd] Afaad! o1 T STal 8% afad U1 Waa Il 3Gl | 7R a8 fhdt 3= & W=rar H SifaehHur 78] &
DT A0 & T AT 8 3R TaB! TRAT BT $HTeR FT 8| 57 M H T 71 Tep-gwR & Uil UF-1a 0ot g 3| T4 9919
s foreht Q@R &1 14, 994 3R &1 I UIST Uga &1 is AT el 81T 3T TS &1 AR e ArFar Redi o1 g8 Hid Rard g2
UM G2Y 3R Tl & o, TR 3R H1al & o, S-S 4Hf o) A aTal & g RIRGTH B aTd SR 1AM 61 IR $H- aTd B g
TSl 7 Jue f 81a 2, faue o, et ot ok e o 2Rrga aret 3R sS4 81d 8 SR 371 Jedh sta ST o SaeR Ri@e &
30er off e a1 T 8t B o Tohal o) F1en T g ot srde & Sl § o6 Irrst § e &t HiaHT &1 foRifgd dxeb 9d H 310Ted &1
Y9 U1 Y 3R T A Redl &1 Wi Y TR o2 R T U ¥ 307 e & 3iawR U1 9|

Sub questions

Question Number : 196 Question Id : 97675513744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Ie & SMYR TR YR FHS H 182
Options :

1. % THIUAT g |

2. % IS |

3. gAMAI B |

4. % 3T T |

Question Number : 197 Question Id : 97675513745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H 3T =T & ATY-T1Y F1-31 A1 ATeu?
Options :

1. % GIRI DI TR BT IR 51 B! AT |

2. % gt & AFarg Rl &1 a6 Ram1 9y |
3. ¢ GIR] &1 WAl Dl T HAT A1 |

4. % U1 €Y TR BT AT T AT |

Question Number : 198 Question Id : 97675513746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3Tade | feRifgd B o1 o 31 g2
Options :

1. ¥ &1l

2. % UM dTeT

3. % RIS BT

4. % qUUr HAT

Question Number : 199 Question Id : 97675513747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g0 A I - T TG BT UaTgare Tal 82
Options :

1. % T4

2. ¢ HANad

3. % ¥

4. % fqOR

Question Number : 200 Question Id : 97675513748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y TG Bl Dlg SUGa -
Options :

1. # 3N bl AN

2. % 3T R=d

3. v TRien & st

4. % o

Question Id : 97675513743 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

2 fou M e & 91 5 Uy U A €1 39 Y ) egdes Ue 3R IR et i ¥ Udd U Bl FaitH IR I




TS Al diAD THIST WaAadl Aaadl &l THg STl 8% dad U Wda I IGdT 5| 7R 98 [l 37 B Waadl | SAfaehHul 78] &xa|
D! 370 Bl T AT § 3R D! TRAT BT 3MTER Bl g| 3 3 H G o7 Th-gaR & Ui UH-HTId i8Il g T 9H-H1d

o o el R 1 i, oot 3R i 9 Ul UgT o1 IS I el §lll) 1 311 b1 gHR] FRiet ety Reefl obi g il el 22
U T3 3R Tl & &, TR 3R BT & o, S-S 4Hf o) A aral & s RIE &1 91T TR RIS B R B a1 8|
HHMﬁHLm WA T, Rum ot o o o e o) 2R ardt ok Rie +ft 819 2 SRIT 3 T ST e 3T FTaeR R &
3y off e orae @ & o o Wl ﬁrmﬁ%ﬁaﬁmﬁm%ﬁ?wﬁ&wﬁmﬁmaﬂ%wﬁww
UG UeT Y 3R T HHa Redl &1 Wy Yff TR HX R THH U ¥ 307 s & S{awR T T

Sub questions

Question Number : 196 Question Id : 97675513744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG & YR TR YR THIS & 37 82
Options :

1. ® THSUAT g |

2. % ARSI g |

3.« GHFATG |

4. % A G |

Question Number : 197 Question Id : 97675513745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 3T Xad=dT & TTY-T1Y F1-a1 BT Ieu?
Options :

1. % IR 1 el BT g1 71 B! =5 |
2. % gt 1 Al Redl 1 gae Rramr iy |
3. ¢ QIR B WA BT T HAT A1 |

4. % 3O g1 TRAT BT &1 & Mgy |

Question Number : 198 Question Id : 97675513746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Twse # feRIfed B o1 o 3 g2



Options :

1. ¥ GaI Gl

2. % (UM A1eY
3. % RIFGARE BT

4. % qUU BT

Question Number : 199 Question Id : 97675513747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
70 T B - T HIGT BT YaTgar 78t g2
Options :

1. % FAIHG

2. % 3{ad

3. % ¥

4. % IR

Question Number : 200 Question Id : 97675513748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 3T BT IS SUYH Y-
Options :

1. % 35T hl AN

2. % A fRed

3. ¢ TR1en & ey

4. % lbdd



